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1   Which type of toe caps are used to avoid 
crushing of feet at the time of shifting equipments? 

| εÜȒěÈɰÀ }Ò¾ØÌʇ ¾ɭ ÞÖ× ÒɮØʇ ¾ɨ ¾ȓÃÙÑɭ Þɭ ÔÃÑɭ ¾ɭ 
εÙ¤ η¾Þ Ţ¾ɟØ ¾ɭ ÒɮØ ¾ɭ yɰÀȕÉɭ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ 
ßɮ? 

A  Steel toe caps | ĦÈɡÙ ¾ɥ ÈɨθÒ×ɟɰ 

B  Plastic toe caps | ĚÙɟȒĦÈ¾ ¾ɥ ÈɨθÒ×ɟɰ 

C  Rubber toe caps | ØÔî ¾ɥ ÈɨθÒ×ɟɰ 

D  Leather toe caps | ÃÖîɭ ¾ɭ ÒɮØ ¾ɥ ÈɨÒɠ 

 
2   How the gas and liquified gases are classified? 

| ÀɮÞ ©Ø ÍØÙ ÀɮÞʇ ¾ɨ ¾ɮÞɭ ÛÀɶ¾ȗÍ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Class A fire  
B  Class B fire  
C  Class C fire  
D  Class D fire  

 
3   Which fire extinguisher is used to put off class 

C type of fire? | ĆÙɟÞ class C Ţ¾ɟØ ¾ɥ zÀ ÔȓÆɟÑɭ ¾ɭ 
εÙ¤ η¾Þ yȒĈÑÜɟÖ¾ ×ɰŝ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Foam type | ÓɨÖ Ţ¾ɟØ 

B  Jet of water | ÒɟÑɠ ¾ɥ ÅɭÈ 

C  Dry powdered | Þȕ¿ɟ ÃȕÌx 
D  Carbon-di-oxide |   ¾ɟÔxÑ Êɟ{¦ĆÞɟ{Ê 

 
4   Which fire extinguisher is used to put off class 

A type of fire? | ¾àɟ class ¤ Ţ¾ɟØ ¾ɥ zÀ ÔȓÆɟÑɭ ¾ɭ 
εÙ¤ η¾Þ yȒĈÑÜɟÖ¾ ×ɰŝ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Foam type | ÓɨÖ Ţ¾ɟØ 

B  Jet of water | ÒɟÑɠ ¾ɥ ÅɭÈ 

C  Dry powdered | Þȕ¿ɟ ÃȕÌx 
D   Carbon-di-oxide |   ¾ɟÔxÑ Êɟ{¦ĆÞɟ{Ê 

 
5   What is the shape of mandatory signs? | 

yȑÑÛɟ×x Þɰ¾ɭÍʇ ¾ɟ z¾ɟØ Ć×ɟ ßɮ? 

A  Square | ÛÀx 

B  Circular | ÀɨÙ 
C  Triangular | Ȑŝ¾ɨÌɠ× 

D  Rectangular | z×Íɟ¾ɟØ 

 
6   Which method is used for blanketing with 

foam to extinguish the fire? | zÀ ÔȓÆɟÑɭ ¾ɭ εÙ¤ 

ÓɨÖ ¾ɭ ÞɟÎ ¾ɰÔεÙɰÀ ¾ɭ εÙ¤ η¾Þ θÛκÐ ¾ɟ }Ò×ɨÀ 
η¾×ɟ ÅɟÍɟ ßɮ? 

A  Cooling | ÜɠÍÙ¾ 

B  Starving | Õȕ¿ÖØɡ 
C  Smothering | ĦÖȕÎȎØɰÀ 

D  Heating | ÀØÖ ¾ØÑɟ 

 
7   Which material is used for making instrument 

cabinets? | {ɰĦȩÖʃÈ ¾ɮȐÔÑɭÈ ÔÑɟÑɭ ¾ɭ εÙ¤ η¾Þ ÞɟÖŐɠ 
¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Wood | Ù¾îɠ 

B  Plastic | ĚÙɟȒĦÈ¾ 

C  Hard rubber | ¾ÉɨØ ØÔØ 
D  Sheet metal | ÐɟÍȕ ¾ɥ ÃɟÏØ 

 
8   What is the shape of warning sign board? | 

ÃɭÍɟÛÑɠ Þɟ{Ñ ÔɨÊx ¾ɟ z¾ɟØ Ć×ɟ ßɮ? 

A  Square shape | Ãɩ¾ɨØ z¾ɟØ 
B  Circular shape | ÀɨÙ z¾ɟØ 
C  Triangular shape | Ȑŝ¾ɨÌɠ× z¾ɟØ 
D  Hexagonal shape | Ýʨ¾ɨÌɠ× z¾ɟØ 

 
9   Which class of fire is classified involving 

metals? | yȒĈÑ ¾ɥ η¾Þ ŬɭÌɠ Öʃ ÐɟÍȓ̈ɰ ¾ɨ ÜɟεÖÙ 
η¾×ɟ À×ɟ ßɮ? 

A  Class A  
B  Class B  
C  Class C  
D  Class D  

 
10   Which step is followed for treating a person 

from electric shock? | ȐÔÅÙɡ ¾ɭ ÆÈ¾ɭ Þɭ η¾Þɠ 
ģ×ȒĆÍ ¾ɭ {ÙɟÅ ¾ɭ εÙ¤ η¾Þ ¾ÏÖ ¾ɟ yÑȓÞØÌ η¾×ɟ 
ÅɟÍɟ ßɮ? 

A  Provide water | ÒɟÑɠ }ÒÙĜÐ ¾Øɟ¤ɰ 

B  Keep the victim cold | ÒɠιîÍ ¾ɨ ÉɰÊɟ Ø¿ʃ 

C  Cover the victim with a coat | ÒɠιîÍ ¾ɨ ¾ɨÈ Þɭ 
Ë¾ Ïʃ 
D  Move the victim to a ventilated place | ÒɠιîÍ 

¾ɨ ßÛɟÏɟØ ÅÀß ÒØ Ùɭ Åɟ¤ɰ 
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11   What is the shape of prohibition sign? | 

ȑÑÝɭÐ Þɰ¾ɭÍ ¾ɟ z¾ɟØ Ć×ɟ ßɮ? 

A  Square | ÛÀx 

B  Circular | ÀɨÙ 
C  Triangular | Ȑŝ¾ɨÌɠ× 

D  Rectangular | z×Íɟ¾ɟØ 

 
12   What is the name of safety group sign? | 

ÞȓØàɟ ÞÖȕß κÃęß ¾ɟ ÑɟÖ Ć×ɟ ßɮ 

 
A  Warning signs | ÃɭÍɟÛÑɠ ¾ɭ Þɰ¾ɭÍ 

B  Mandatory signs | yȑÑÛɟ×x Þɰ¾ɭÍ 

C  Prohibition signs | ȑÑÝɭÐ Þɰ¾ɭÍ 

D  Information signs | ÞȕÃÑɟ ¾ɭ Þɰ¾ɭÍ 

 
13   Which factor influences the severity of 

electrical shock? | ¾ɩÑ Þɟ ¾ɟØ¾ ȐÔÅÙɡ ¾ɭ ÆÈ¾ɭ ¾ɥ 
ÀɰÕɠØÍɟ ¾ɨ ŢÕɟθÛÍ ¾ØÍɟ ßɮ? 

A  Very low DC voltage | ÔßȓÍ ¾Ö ÊɠÞɠ ÛɨġÈɭÅ 

B  Duration of current passing | ¾ØɰÈ ÀȓÅØÑɭ ¾ɥ 
yÛκÐ 

C  Level of current in micro ampere | Öɟ{Ŏɨ 
¤ĞÒɠ×Ø Öʃ ¾ØɰÈ ¾ɟ ĦÍØ 
D  Person receives the shock | ģ×ȒĆÍ ¾ɨ ÆÈ¾ɟ 
ÙÀÑɟ 

 
14   Which angle is checked by the try square? | 

Řɟ{ ĦĆÛɟ×Ø ʬÛɟØɟ η¾Þ ¾ɨÌ ¾ɥ ÅɟɯÃ ¾ɥ ÅɟÍɠ ßɮ? 

A  45°  
B  60°  
C  75°  
D  90°  

 
15   What is the use of screw driver? | ĦŎȕ Śɟ{ÛØ 

¾ɟ }Ò×ɨÀ Ć×ɟ ßɮ? 

A  Hold the screws | ĦŎȕ Ò¾îÑɟ 

B  Tighten or loosen screws | ĦŎȕ ¾ɨ ¾ÞÑɭ ×ɟ 
ËɡÙɟ ¾ØÑɟ 

C  Tighten or loosen bolts | ÍɰÀ ×ɟ ËɡÙɟ ÔɨġÈ 

D  Tighten or loosen rivets | ȎØÒÈ ¾ɨ ¾Þʃ ×ɟ ËɡÙɟ 
¾Øʃ 

 
16   Which is the maximum size of drill bit used 

in electrical hand drilling machine? | {ÙɭȒĆŘ¾Ù ßʅÊ 
ιŚεÙɰÀ ÖÜɠÑ Öʃ Ţ×ȓĆÍ ιŚÙ ȐÔÈ ¾ɟ yκÐ¾ÍÖ z¾ɟØ 
¾ɩÑ Þɟ ßɮ? 

A  0.35 mm | 0.35 εÖÖɠ 

B  1.5 mm | 1.5 εÖÖɠ 

C  3.5 mm | 3.5 εÖÖɠ 

D  6.5 mm | 6.5 εÖÖɠ 

 
17   Which tool is used for seaming the funnel 

like taper? | ÈʃÒØ ÅɮÞɠ ÷ÑÙ ÅɨîÑɭ ¾ɭ εÙ¤ η¾Þ 
}Ò¾ØÌ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Vices | θÛÞɭÞ 

B  Angle steel | ¤ɰÀÙ ĦÈɡÙ 

C  Hatchet stake | ßɭÃɭÈ ĦÈɭ¾ 

D  Blow horn stake | ĜÙɨ ßɦÑx ĦÈɭ¾ 
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18   What is indicated by the arrow marked x in 

the sawing operation? | zØɡ ¾ɭ ÞɰÃɟÙÑ Öʃ x κÃȒħÑÍ 

ÍɠØ ʬÛɟØɟ Ć×ɟ {ɰκÀÍ η¾×ɟ À×ɟ ßɮ? 

 
A  Direction of cut | ¾È ¾ɥ ȏÏÜɟ 

B  Direction of pressure | ÏÔɟÛ ¾ɥ ȏÏÜɟ 

C  Reversed position of blade | ĜÙɭÊ ¾ɥ }ÙÈɡ 
ȒĦÎȑÍ 

D  Direction of motion of blade | ĜÙɭÊ ¾ɥ ÀȑÍ ¾ɥ 
ȏÏÜɟ 

 
19   What is the purpose of wood rasp file? | ÛȓÊ 
ØɟĦÒ Óɟ{Ù ¾ɟ }ʬÏɭĤ× Ć×ɟ ßɮ? 

A  90° corners | 90 °¾ɦÑxÞx 

B  Cutting metals | ÐɟÍȓ ¾ɟÈÑɟ 

C  Finishing flat edges | ÞÖÍÙ η¾ÑɟØʇ ¾ɨ ¿ĕÖ 
¾ØÑɟ 

D  Preliminary rough work | ŢɟØɰεÕ¾ ØÓ ¾ɟÖ 
 

20   What is the first step to rescue the person in 

electrical contact? | θÛʬ×ȓÍ ÞɰÒ¾x Öʃ ģ×ȒĆÍ ¾ɨ ÔÃɟÑɭ 

¾ɭ εÙ¤ ÒßÙɟ ¾ÏÖ Ć×ɟ ßɮ? 

A  Break the contact | ÞɰÒ¾x Íɨî Ïɨ 
B  Call the doctor | ÊɦĆÈØ ¾ɨ ÔȓÙɟ¤ɰ 
C  Switch OFF power supply | ȒĦÛÃ ¦Ó ȐÔÅÙɡ 
¾ɥ zÒȕȑÍx 
D  Pull the person from electrical contact | 

ȐÔÅÙɡ ¾ɭ ÞɰÒ¾x Þɭ ģ×ȒĆÍ ¾ɨ ¿ɠɰÃɨ 

 
21   What is the reason for electric fire? | ȐÔÅÙɡ 
¾ɥ zÀ ¾ɟ ¾ɟØÌ Ć×ɟ ßɮ? 

A  Deviation | θÛÃÙÑ 

B  Open circuit | ¿ȓÙɟ ÒȎØÒÎ 

C  Overloading | ̈ ÛØÙɨιÊɰÀ 

D  Proper earthing | }κÃÍ yκÎʋÀ 

 
22   What is the meaning of the information 

sign? | ÞȕÃÑɟ κÃęß ¾ɟ yÎx Ć×ɟ ßɮ? 

 
A  Toxic hazard | θÛÝɟĆÍ ¿ÍØɟ 

B  Wear respirator | ĤÛɟÞ×ɰŝ ÒßÑʃ 

C  First aid point | ŢɟÎεÖ¾ κÃη¾ĕÞɟ ȐÔɰÏȓ 
D  Risk of explosion | θÛĦÓɨÈ ¾ɟ ¿ÍØɟ 

 
23   Which artificial respiration method to be 

avoided to a person with abdomen injury? | ÒɭÈ ¾ɥ 
ÃɨÈ ÛɟÙɭ ģ×ȒĆÍ ¾ɨ η¾Þ ¾ȗȐŝÖ ĤÛÞÑ θÛκÐ Þɭ ÔÃÑɟ 
Ãɟȏß¤? 

A  Schafer’s method | ÜɭÓØ ¾ɥ θÛκÐ 

B  Mouth-to-nose method | Öȓɰß Þɭ Ñɟ¾ Í¾ ¾ɥ 
θÛκÐ 

C  Nose-to-mouth method | Ñɟ¾ Þɭ Öȓɯß ¾ɥ θÛκÐ 

D  Mouth-to-mouth method | Öȓɯß Þɭ Öȓɯß ¾ɥ θÛκÐ 

 
24   What is the cause of injuring at the time of 

lifting a load? | ÕɟØ }ÉɟÑɭ ¾ɭ ÞÖ× ÃɨÈ ÙÀÑɭ ¾ɟ Ć×ɟ 
¾ɟØÌ ßɮ? 

A  Heavy load | ÕɟØɡ ÔɨÆ 
B  Falling object | κÀØÍɠ ßȓ| Ãɠéʃ 

C  Object striting the load | ÕɟØ ¾ɨ ÈÈɨÙÑɭ ÛɟÙɡ 
ÛĦÍȓ 
D  Wrong lifting technique | ÀÙÍ }ÉɟÑɭ ¾ɥ 
Í¾Ñɠ¾ 
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25   How the overlapping of excess sheet metal 
causing bulge at seam and edge is prevented? | 

ÞɠÖ ©Ø η¾ÑɟØɭ ÒØ }ÕɟØ ÒɮÏɟ ¾ØÑɭ ÛɟÙɡ yȑÍȎØĆÍ 

ÜɠÈ ÐɟÍȓ ¾ɭ ̈ÛØÙɮθÒɰÀ ¾ɨ ¾ɮÞɭ Øɨ¾ɟ ÅɟÍɟ ßɮ? 

A  Mallet | Ù¾îɠ ¾ɟ ßÎɩîɟ 

B  Notches | ÑɩÃ 
C  L - angles | ¤Ù π ¾ɨÌ 
D  Square stake | Ãɩ¾ɨØ ȏßĦÞɭÏɟØɡ 

 
 
 
 

26   What is the effect of electric shock at very 

low voltage levels (Less than 40v)? | ÔßȓÍ ¾Ö 
ÛɨġÈɭÅ ĦÍØ ό40v Þɭ ¾Öύ ÒØ ȐÔÅÙɡ ¾ɭ ÆÈ¾ɭ ¾ɟ Ć×ɟ 
yÞØ ßɨÍɟ ßɮ? 

A  Fibrillation | ηÓŤɠÙɭÞÑ 

B  Muscles contact | ÖɟɰÞÒɭεÜ×ʇ ¾ɟ ÞɰÒ¾x 

C  Burning of the skin | ĕÛÃɟ ¾ɟ ÅÙÑɟ 
D  Unpleasant tingling sensation | yθŢ× ÆȓÑÆȓÑɠ 
ÞÑÞÑɠ 
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27   Electrical conductivity of gold is … | ÞɨÑɭ ¾ɥ 
θÛʬ×ȓÍ ÃɟÙ¾Íɟ ßɮΧ 

A  56%  
B  67%  
C  94%  
D  100%  

 
28   What is stationary electric charges? | ȒĦÎØ 
θÛʬ×ȓÍ ŢÕɟØ Ć×ɟ ßɮ? 

A  Static charges | ĦÎɮȑÍ¾ zØɨÒ 

B  Kinetic charges | ¾ɟ{ÑɭȏÈ¾ Üȓġ¾ 

C  Chemical charges | ØɟÞɟ×ȑÑ¾ Üȓġ¾ 

D  Electrical charges | θÛʬ×ȓÍ Üȓġ¾ 

 
29   What is the unit of electric charge? | θÛʬ×ȓÍ 
zÛɭÜ ¾ɥ {¾ɟ| Ć×ɟ ßɮ? 

A  Volts | ÛɨġÈ 

B  Hertz | ßʨxé 

C  Ampere | ¤ĞÒɭ×Ø 
D  Coulomb | ¾ȕÙĞÔ 

 
30   Which material contains eight electrons in 

valency layer? | ¾ɩÑπÞɠ ÞɟÖŐɠ Öʃ zÉ {ÙɭĆŘɦÑ ßɨÍɭ 

ßʅ, Åɨ η¾ ÜɟÙɡÑÍɟ ¾ɥ ÒØÍ Öʃ ßɨÍɭ ßʅ? 

A  Insulators | {ɰÞȓÙɭÈØ 
B  Conductors | ¾ɰÊĆÈØ 

C  Semiconductors | ÞɭÖɠ¾ɰÊĆÈØ 

D  Intrinsic semiconductors | {ęŘɡεÞ¾ 

ÞɭÖɠ¾ɰÊĆÈØ 

 
31   Which material is used as electrical 

insulator? | θÛʬ×ȓÍ {ęÞȓÙɭÈØ ¾ɭ ȼÒ Öʃ η¾Þ ÞɟÖŐɠ 
¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Gallium | ÀɮεÙ×Ö 

B  Porcelain | ÒɨØ¾ɭεÙÑ 

C  Aluminium | yġ×ȓÖɠȑÑ×Ö 

D  Germanium | ÅÖɴȑÑ×Ö 

 
32   Which electrical parameter opposes the 

flow of electrons? | ¾ɩÑ Þɟ θÛʬ×ȓÍ ÒɮØɟÖɠÈØ 

{ÙɭĆŘɦÑʇ ¾ɭ ŢÛɟß ¾ɟ θÛØɨÐ ¾ØÍɟ ßɮ? 

A  Power | ÒɦÛØ 

B  Voltage | ÛɨġÈɭÅ 

C  Current | ¾ØɰÈ 

D  Resistance | ØɭȒÅĦÈʃÞ 

 
33   How the single strand wire is called? | εÞɰÀÙ 

ĦŘʅÊ Ûɟ×Ø ¾ɨ ¾ßɟ ÅɟÍɟ ßɮ? 

A  Flexible wire | ÙÃɠÙɭ ÍɟØ 

B  Twisted wire | Öȓîɠ ßȓ| ÍɟØ 

C  Hook up wire | ÍɟØ ÔɟɰÐÑɟ 

D  Multi strand wire | ÖġÈɡ ĦŘʅÊ Ûɟ×Ø 

 
34   What is the purpose of covering provided 

over the electrical conductor? | θÛʬ×ȓÍ ¾ɰÊĆÈØ ¾ɭ 
~ÒØ ŢÏɟÑ η¾¤ À¤ ¾ÛØ ¾ɟ }ʬÏɭĤ× Ć×ɟ ßɮ? 

A  Increase current flow | ÛÍxÖɟÑ ŢÛɟß Ôïɟ¤ɯ 

B  Reduce current flow | ÛÍxÖɟÑ ŢÛɟß ¾ɨ ¾Ö ¾Øʃ 

C  Decrease voltage rating | ÛɨġÈɭÅ ØɭȏÈɰÀ Öʃ ¾Öɠ 
D  Protection against weather | ÖɩÞÖ ¾ɭ ζ¿ÙɟÓ 
ÞɰØàÌ 

 
35   Which cores are used in intermediate 

frequency transformers? | ÖĘ×ÛÍɶ zÛȗθǡ 
ŘɟɰÞÓɟÖxØ Öʃ ¾ɩÑ Þɭ ¾ɨØ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Steel | {ĦÒɟÍ 

B  Nickel | ȑÑ¾Ù 
C  Cobalt | ¾ɨÔɟġÈ 

D  Ferrite | ÓɭØɟ{È 

 
36   Which material conducts electricity? | ¾ɩÑ 
Þɠ ÞɟÖŐɠ ȐÔÅÙɡ ¾ɟ ÞɰÃɟÙÑ ¾ØÍɠ ßɮ? 

A  Mica | yť¾ 
B  Paper | ¾ɟÀé 
C  Glass | ¾ɟɰÃ 

D  Copper | ÍɟɰÔɟ 
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37   How many electrons are contained in 

coulomb of electric charge? | θÛʬ×ȓÍ zÛɭÜ ¾ɭ ×ȓĈÖ 
Öʃ η¾ÍÑɭ {ÙɭĆŘɦÑ ßɨÍɭ ßʅ? 

A  6.25 x 108 electrons | 6.25 x 108 {ÙɭĆŘɦÑ 

B  6.25 x 1012 electrons | 6.25 x 1012 {ÙɭĆŘɦÑ 

C  6.25 x 1016 electrons | 6.25 x 1016 {ÙɭĆŘɦÑ 

D  6.25 x 1018 electrons | 6.25 x 1018 {ÙɭĆŘɦÑ 

 
38   What is the percentage of conductivity of 

electric current in silver? | ÃɟɰÏɡ Öʃ θÛʬ×ȓÍ ŢÛɟß ¾ɥ 
ÃɟÙ¾Íɟ ¾ɟ ŢȑÍÜÍ η¾ÍÑɟ ßɮ? 

A  56%  
B  67%  
C  0.94  
D  100%  

 
39   What is the percentage of conductivity of 

electric current in aluminium? | ¤ġ×ȕÖɠȑÑ×Ö Öʃ 
θÛʬ×ȓÍ ŢÛɟß ¾ɥ ÃɟÙ¾Íɟ ¾ɟ ŢȑÍÜÍ η¾ÍÑɟ ßɮ? 

A  22%  
B  47%  
C  0.56  
D  76%  

 
40   How the movement of electrons through a 

conductor in a particular direction is called? | η¾Þɠ 
θÛÜɭÝ ȏÏÜɟ Öʃ ÃɟÙ¾ ¾ɭ ÖɟĘ×Ö Þɭ {ÙɭĆŘɦÑʇ ¾ɥ ÃɟÙ 
¾ɨ ¾ɮÞɭ ¾ßɟ ÅɟÍɟ ßɮ? 

A  Resistance | ØɭȒÅĦÈʃÞ 

B  Inductance | {ęÊ¾ÈɭęÞ 

C  Conductance | ¾ɰÊĆÈɭęÞ 

D  Electric current | θÛʬ×ȓÍ ŢÛɟß 

 
41   Which metal has very good conductivity to 

the electric current? | θÛʬ×ȓÍ ÐɟØɟ Öʃ η¾Þ ÐɟÍȓ ¾ɥ 
ÃɟÙ¾Íɟ ÔßȓÍ yċÄɢ ßɨÍɠ ßɮ? 

A  Gold | ÞɨÑɟ 

B  Copper | ÍɟɰÔɟ 

C  Silver | ÃɟɰÏɡ 

D  Aluminium | yġ×ȓÖɠȑÑ×Ö 

 
42   Which electrical property opposes the flow 

of electrons? | ¾ɩÑ Þɠ θÛʬ×ȓÍ ÞɰÒθǡ {ÙɭĆŘɦÑʇ ¾ɭ 

ŢÛɟß ¾ɟ θÛØɨÐ ¾ØÍɠ ßɮ? 

A  Power | ÜȒĆÍ 

B  Voltage | ÛɨġÈɭÅ 

C  Current | ÛÍxÖɟÑ 

D  Resistance | ŢȑÍØɨÐ 

 
43   How the single strand wire is called? | εÞɰÀÙ 

ĦŘʅÊ Ûɟ×Ø ¾ɨ ¾ɮÞɭ ¾ßɟ ÅɟÍɟ ßɮ? 

A  Hook - up wire | ÍɟØ ÔɟɰÐÑɟ 

B  Twisted wire | Öȓîɠ ßȓ| ÍɟØ 

C  Flexible wire | ÙÃɠÙɭ ÍɟØ 

D  Multistrand wire | ÖġÈɡĦÈʅÊØ Ûɟ×Ø 

 
44   What is the percentage of conductivity of 

electric current in copper? | ÍɟɰÔɭ Öʃ θÛʬ×ȓÍ ŢÛɟß ¾ɥ 
ÃɟÙ¾Íɟ ¾ɟ ŢȑÍÜÍ η¾ÍÑɟ ßɮ? 

A  56%  
B  67%  
C  0.94  
D  100%  

 
45   How many gauge numbers in SWG, changed 
to double the cross section area of the conductor? | 

SWG Öʃ η¾ÍÑɭ ÀɭÅ Þɰć×ɟ, ¾ɰÊĆÈØ ¾ɭ ŎɦÞ ÞɭĆÜÑ àɭŝ 
¾ɨ ÏɨÀȓÑɟ ¾ØÑɭ ¾ɭ εÙ¤ ÔÏÙ ȏÏ×ɟ À×ɟ? 

A  Two gauge sizes decreased | Ïɨ ÀɭÅ z¾ɟØ Öʃ 
¾Öɠ z| 
B  Four gauge sizes increased | ÃɟØ ÀɭÅ z¾ɟØ Öʃ 
ÛȗʬκÐ ßȓ| 
C  Five gauge sizes increased | ÒɟɰÃ ÀɭÅ z¾ɟØ Öʃ 
ÛȗʬκÐ ßȓ| 
D  Three gauge sizes decreased | ÍɠÑ ÀɭÅ z¾ɟØ 
Öʃ ¾Öɠ z| 
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46   What are the fundamental properties of 

insulation materials? | {ęÞȓÙɭÜÑ ÞɟÖŐɠ ¾ɭ ÖȕÙÕȕÍ 
ÀȓÌ Ć×ɟ ßʅ? 

A  Length and cross sectional area | ÙɰÔɟ| ©Ø 
ÒɟØ yÑȓÕɟÀɠ× àɭŝ 

B  Low resistance and thermal heat | ¾Ö 
ŢȑÍØɨÐ ©Ø }ĥÖɠ× ÍɟÒ 
C  Temperature and electrical hazards | ÍɟÒÖɟÑ 

©Ø ȐÔÅÙɡ ¾ɭ ¿ÍØɭ 

D  Insulation resistance and dielectric strength | 

{ęÞȓÙɭÜÑ ŢȑÍØɨÐ ©Ø Ëɟɰ¾Íɟ ßȓz Íɟ¾Í 

 
47   What is the shape of standard wire gauge? | 

ĦÈɮĔÊÊx Ûɟ×Ø ÀɭÅ ¾ɟ z¾ɟØ Ć×ɟ ßɮ? 

A  Square metal disk | ÛÀx ÐɟÍȓ ιÊĦ¾ 

B  Circular metal disk | ÒȎØÒŝ ÐɟÍȓ ιÊĦ¾ 

C  Cylindrical glass disk | ÔɭÙÑɟ¾ɟØ ¾ɟɰÃ ¾ɥ ιÊĦ¾ 

D  Rectangular plastic disk | z×Íɟ¾ɟØ ĚÙɟȒĦÈ¾ 

ιÊĦ¾ 

 
48   Which electrical quantity is directly 
proportional to the current carrying capacity of the 

conductor? | ¾ɰÊĆÈØ ¾ɥ ÛÍxÖɟÑ ÛßÑ àÖÍɟ ¾ɭ εÙ¤ 
¾ɩÑ Þɠ θÛʬ×ȓÍ Öɟŝɟ ÞɠÐɭ zÑȓÒɟȑÍ¾ ßɮ? 

A  Wire resistance | ÍɟØ ŢȑÍØɨÐ 

B  Passing current | ÒɟεÞɰÀ ¾ØɰÈ 

C  Conductor s shape | ¾ɰÊĆÈØ ¾ɥ z¾ȗȑÍ 

D  Conductor s diameter | ¾ɰÊĆÈØ ¾ɟ ģ×ɟÞ 

 
49   Which formula is used to find the 

conductance? | ÃɟÙ¾Íɟ áɟÍ ¾ØÑɭ ¾ɭ εÙ¤ η¾Þ Þȕŝ 
¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Q / V  
B  I x R  
C  V / I  
D  I / V  

 
50   Which materials are used for 

semiconductor? | yÐxÃɟÙ¾ ¾ɭ εÙ¤ ¾ɩÑ Þɠ ÞɟÖŐɠ 
¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Gallium and indium | ÀɮεÙ×Ö ©Ø {ɰιÊ×Ö 

B  Silver and aluminium | ÃɟɰÏɡ ©Ø ¤ġ×ȕÖɠȑÑ×Ö 

C  Arsenic and antimony | zÞɴȑÑ¾ ©Ø ÞȓØÖɟ 
D  Silicon and germanium | εÞεÙ¾ɦÑ ©Ø 
ÅÖɴȑÑ×Ö 

 
51   Which metal has very good conductivity of 

electric current? | η¾Þ ÐɟÍȓ Öʃ θÛʬ×ȓÍ ÐɟØɟ ¾ɥ ÔßȓÍ 
yċÄɢ ÃɟÙ¾Íɟ ßɨÍɠ ßɮ? 

A  Gold | ÞɨÑɟ 

B  Silver | ÃɟɰÏɡ 

C  Copper | ÍɟɰÔɟ 

D  Aluminium | yġ×ȓÖɠȑÑ×Ö 

 
52   How the insulation coating stays without 

damage, even on bending the wire? | ÍɟØ ¾ɨ Æȓ¾Ñɭ 
ÒØ Õɠ {ęÞȓÙɭÜÑ ¾ɨȏÈɰÀ ȐÔÑɟ Ñȓ¾ÞɟÑ ¾ɭ ¾ɮÞɭ ØßÍɠ ßɮ? 

A  Due to wire resistance | ÍɟØ ŢȑÍØɨÐ ¾ɭ ¾ɟØÌ 

B  Due to high current flow | }ċÃ ÐɟØɟ ŢÛɟß ¾ɭ 
¾ɟØÌ 

C  Due to elastic property of insulation | 

{ęÞȓÙɭÜÑ ¾ɥ ÙɨÃÏɟØ ÞɰÒθǡ ¾ɭ ¾ɟØÌ 

D  Due to the strength of the wire material | ÍɟØ 
ÞɟÖŐɠ ¾ɥ Íɟ¾Í ¾ɭ ¾ɟØÌ 

 
53   What is the name of the motion of charged 

particles in any medium? | η¾Þɠ Õɠ ÖɟĘ×Ö Öʃ 
zÛɭεÜÍ ¾Ìʇ ¾ɥ ÀȑÍ ¾ɟ Ć×ɟ ÑɟÖ ßɮ? 

A  Current | ÛÍxÖɟÑ 

B  Voltage | ÛɨġÈɭÅ 

C  Resistance | ŢȑÍØɨÐ 

D  Frequency | zÛȗθǡ 
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54   What is the specified Vcc voltage of 4 bit 

digital switch with 4 independent lines? | 4 ĦÛÍɰŝ 

Ùɟ{Ñʇ ¾ɭ ÞɟÎ 4 ȐÔÈ ιÊȒÅÈÙ ȒĦÛÃ ¾ɟ ȑÑȏÏxĥÈ Vcc 

ÛɨġÈɭÅ Ć×ɟ ßɮ? 

A  1.5 V to 2.2 V | 1.5 Ûɠ Þɭ 2.2 Ûɠ 
B  2.3 V to 3.6 V | 2.3 Ûɠ Þɭ 3.6 Ûɠ 
C  4.5 V to 5.5 V | 4.5 Ûɠ Þɭ 5.5 Ûɠ 
D  5.0 V to 7.5 V | 5.0 Ûɠ Þɭ 7.5 Ûɠ 

 
55   What is the purpose of standard wire gauge 

(SWG)? | ÖɟÑ¾ Ûɟ×Ø ÀɭÅ όSWG) ¾ɟ }ʬÏɭĤ× Ć×ɟ ßɮ? 

A  Measure current | ÛÍxÖɟÑ ¾ɨ ÖɟÒʃ 

B  Measure voltage | ÛɨġÈɭÅ ÖɟÒʃ 

C  Measure diameter of wire | ÍɟØ ¾ɟ ģ×ɟÞ ÖɟÒʃ 

D   Measure insulation of wire |   ÍɟØ ¾ɭ 
{ęÞȓÙɭÜÑ ¾ɨ ÖɟÒʃ 

 
56   Which electrical parameter is measured by 

the megger? | η¾Þ θÛʬ×ȓÍ ÒɮØɟÖɠÈØ ¾ɨ ÖɭÀØ ʬÛɟØɟ 

ÖɟÒɟ ÅɟÍɟ ßɮ? 

A  Current | ÛÍxÖɟÑ 

B  Voltage | ÛɨġÈɭÅ 

C  Insulation resistance | {ęÞȓÙɭÜÑ ŢȑÍØɨÐ 

D  Frequency | zÛȗθǡ 

 
57   How the insulators are called? | {ɰÞȓÙɭÈØ ¾ɨ 
ΦΦΦΦΦ ¾ßɟ ÅɟÍɟ ßɮ? 

A  Thyristors | Îɟ×ȎØĦÍØ 

B  Molecules | yÌȓ 
C  Dielectrics | ÒɟØʬ×ȓȑÍ¾ 

D  Semiconductors | yÐxÃɟÙ¾ 

 
58   Which tool is used for the simplest method 

of skinning wires? | ȒĦ¾ȑÑɰÀ ÍɟØʇ ¾ɥ ÞÔÞɭ ÞØÙ 
θÛκÐ ¾ɭ εÙ¤ η¾Þ }Ò¾ØÌ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Electrician’s knife | {ÙɭĆŘɡεÜ×Ñ ¾ɟ Ãɟ¾ȕ 
B  Manual wire stripper | ÖɮÑȓyÙ ÍɟØ ¿ɟÙ 
}ÐɭîÑɭÛɟÙɟ 

C  Thermal wire stripper | ÎÖxÙ Ûɟ×Ø ȒĦŘÒØ 

D  Mechanical wire stripper | ×ɟɰȐŝ¾ ÍɟØ ¿ɟÙ 
}ÐɭîÑɭÛɟÙɟ 

 
59   Which energy is converted into electrical 

energy in hydropower stations? | ÅÙθÛʬ×ȓÍ ĦÈɭÜÑʇ 

Öʃ η¾Þ ~Åɟx ¾ɨ θÛʬ×ȓÍ ~Åɟx Öʃ ÒȎØÛȑÍxÍ η¾×ɟ ÅɟÍɟ 
ßɮ? 

A  Heat energy | }ĥÌ ~Åɟx 

B  Light energy | Ţ¾ɟÜ ~Åɟx 

C  Chemical energy | ØɟÞɟ×ȑÑ¾ ~Åɟx 

D  Mechanical energy | ×ɟɰȐŝ¾ ~Åɟx 

 
60   Which tool is used to measure the size of 

wire? | ÍɟØ ¾ɭ z¾ɟØ ¾ɨ ÖɟÒÑɭ ¾ɭ εÙ¤ η¾Þ }Ò¾ØÌ 
¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Try square | ÛÀx ¾ɟ Ţ×ɟÞ ¾Øʃ 

B  Steel rule | ĦÈɡÙ ¾ɟ ȑÑ×Ö 

C  Feeler gauge | ÓɥÙØ ÀɭÅ 
D  Standard wire gauge | ÖɟÑ¾ ÍɟØ ÀɭÅ 

 
61   Which parameter of the wire is directly 

proportional to the current carrying capacity? | ÍɟØ 
¾ɟ ¾ɩÑ Þɟ ÒɮØɟÖɠÈØ ÛÍxÖɟÑ ÛßÑ àÖÍɟ ¾ɭ ÞɠÐɭ 
zÑȓÒɟȑÍ¾ ßɮ? 

A  Wire resistance | ÍɟØ ŢȑÍØɨÐ 

B  Passing current | ÒɟεÞɰÀ ¾ØɰÈ 

C  Conductor s shape | ¾ɰÊĆÈØ ¾ɥ z¾ȗȑÍ 

D  Conductor s diameter | ¾ɰÊĆÈØ ¾ɟ ģ×ɟÞ 

 
62   What is the effect on the current flow with 

increased diameter of conductor? | ¾ɰÊĆÈØ ¾ɭ Ôïɭ 
ßȓ¤ ģ×ɟÞ ¾ɭ ÞɟÎ ÛÍxÖɟÑ ŢÛɟß ÒØ Ć×ɟ ŢÕɟÛ ßɮ? 

A  Resistance increases | ŢȑÍØɨÐ ÔïÍɟ ßɮ 
B  Opposes more current | yκÐ¾ ¾ØɰÈ ¾ɟ θÛØɨÐ 

¾ØÍɟ ßɮ 
C  More voltage dropped | yκÐ¾ ÛɨġÈɭÅ κÀØɟÛÈ 

D  Allows high current flow | }ċÃ ÛÍxÖɟÑ ŢÛɟß 
¾ɥ yÑȓÖȑÍ ÏɭÍɟ ßɮ 
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63   What is the relation of wire diameter with 

current carrying capacity of conductor? | ¾ɰÊĆÈØ ¾ɥ 
ÛÍxÖɟÑ Ùɭ ÅɟÑɭ ¾ɥ àÖÍɟ ¾ɭ ÞɟÎ ÍɟØ ģ×ɟÞ ¾ɟ Ć×ɟ 
ÞɰÔɰÐ ßɮ? 

A  Wire gets less heat | ÍɟØ Þɭ ÀÖɶ ¾Ö ßɨÍɠ ßɮ 
B  Directly proportional | ÞɠÐɭ zÑȓÒɟȑÍ¾ 

C  Inversely proportional | ģ×ȓĕŎÖɟÑȓÒɟÍɠ 
D  Drops more voltage across it | {ÞÞɭ yκÐ¾ 
ÛɨġÈɭÅ κÀØÍɟ ßɮ 

 
64   How the stationary electric charges are 

called? | ȒĦÎØ θÛʬ×ȓÍ zÛɭÜʇ ¾ɨ ¾ɮÞɭ ¾ßɟ ÅɟÍɟ ßɮ? 

A  Static charges | ĦÈɭȏÈ¾ ÃɟÅɴÅ 

B  Kinetic charges | ¾ɟ{ÑɭȏÈ¾ ÃɟÅɴÅ 

C  Chemical charges | ØɟÞɟ×ȑÑ¾ ÃɟÅɴÅ 

D  Electrical charges | θÛʬ×ȓÍ ÃɟÅɴÅ 

 

 
65   What is the name of instrument used to 

measure electrical quantities? | θÛʬ×ȓÍ Öɟŝɟ ¾ɨ 
ÖɟÒÑɭ ¾ɭ εÙ¤ Ţ×ɨÀ η¾¤ ÅɟÑɭ ÛɟÙɭ }Ò¾ØÌ ¾ɟ ÑɟÖ 
Ć×ɟ ßɮ? 

A  Meter | ÖɠÈØ 

B  Tester | ÈɭĦÈØ 

C  Tester | ÈɭĦÈØ |  

D  Vernier caliper | ÛȑÑx×Ø ¾ɮÙɡÒÞx 

 
66   Which terminal of the meter is connected 

for measuring electrical quantity? | θÛʬ×ȓÍ Öɟŝɟ ¾ɨ 
ÖɟÒÑɭ ¾ɭ εÙ¤ ÖɠÈØ ¾ɟ ¾ɩÑ Þɟ ÈεÖxÑÙ Åȓîɟ ßȓz ßɮ? 

A  Input terminal | {ÑÒȓÈ ÈεÖxÑÙ 

B  Output terminal | z}ÈÒȓÈ ÈεÖxÑÙ 

C  Output terminal | z}ÈÒȓÈ ÈεÖxÑÙ |  

D  Pointer mechanism | ÞȕÃ¾ Íɰŝ 

 
67   How the electrical quantity measured by the 

meter is marked in it? | ÖɠÈØ ʬÛɟØɟ ÖɟÒɠ À| θÛʬ×ȓÍ 
Öɟŝɟ ¾ɨ {ÞÖʃ ¾ɮÞɭ κÃȒħÑÍ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Using colour codes | ØɰÀ ¾ɨÊ ¾ɟ }Ò×ɨÀ ¾ØÑɟ 

B  Printing the valves | ÛɟġÛʇ ¾ɨ θŢɰÈ ¾ØÑɟ 

C  Printing the valves | ÛɟġÛʇ ¾ɨ θŢɰÈ ¾ØÑɟ |  

D  Directly printing the specifications | ÞɠÐɭ 
θÛȑÑÏɴÜʇ ¾ɨ ÖȓȏşÍ ¾ØÑɟ 

 
68   What is the meaning of the symbol marked x 

on the ammeter dial? | ¤ÖɠÈØ Êɟ×Ù ÒØ ŢÍɠ¾ x ¾ɟ 
Ć×ɟ yÎx ßɮ? 

 
A  Type of meter | ÖɠÈØ ¾ɟ Ţ¾ɟØ 

B  Position indicator | ȒĦÎȑÍ ÞȕÃ¾ 

C  Position indicator | ȒĦÎȑÍ ÞȕÃ¾ |  

D  Percentage error of meter | ÖɠÈØ ¾ɥ 
ŢȑÍÜÍÍɟ ¾ɥ ŝȓȏÈ 

 
69   What is the value of each division marked by 

numbers on the voltmeter? | ÛɟġÈÖɠÈØ ÒØ Þɰć×ɟ¨ɰ 

ʬÛɟØɟ κÃȒħÑÍ Ţĕ×ɭ¾ θÛÕɟÅÑ ¾ɟ Öȕġ× Ć×ɟ ßɮ? 

 
A  1 V | 1 Ûɠ 
B  2 V | 2 Ûɠ 
C  2 V | 2 Ûɠ |  

D  5 V | 5 Ûɠ 
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70   How the mechanical zero error of panel 

meter is corrected? | ÒɮÑÙ ÖɠÈØ ¾ɥ ×ɟɰȐŝ¾ Üȕę× ŝȓȏÈ 
¾ɨ ¾ɮÞɭ Éɢ¾ η¾×ɟ ÅɟÍɟ ßɮ? 

A  By replacing pointer | ĚÛɟ{ɰÈØ ÔÏÙ¾Ø 

B  By replacing moving coil | ÃÙ ¾ȓɰÊÙ ¾ɥ ÅÀß 
C  By replacing moving coil | ÃÙ ¾ȓɰÊÙ ¾ɥ ÅÀß |  

D  Keeping the meter in vertical position | ÖɠÈØ 
¾ɨ ~ĘÛɟxÐØ ȒĦÎȑÍ Öʃ Ø¿Ñɟ 

 
71   Which condition the mechanical zero error 

occur in panel meters? | ÒɮÑÙ ÖɠÈØ Öʃ ×ɟɰȐŝ¾ Üȕę× 

ŝȓȏÈ η¾Þ ȒĦÎȑÍ Öʃ ßɨÍɠ ßɮ? 

A  At normal condition | ÞɟÖɟę× ȒĦÎȑÍ Öʃ 
B  At load connected condition | ÙɨÊ Þɭ Åȓîɠ 
ȒĦÎȑÍ Öʃ 
C  At load connected condition | ÙɨÊ Þɭ Åȓîɠ 
ȒĦÎȑÍ Öʃ |  

D  At voltage connected condition | ÛɨġÈɭÅ Þɭ 
Åȓîɠ ȒĦÎȑÍ Öʃ 
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72   What is the name of the pair of metal strips 

used in battery cell? | ÔɮÈØɡ ÞɭÙ Öʃ Ţ×ȓĆÍ ÐɟÍȓ ȒĦŘĚÞ 
¾ɥ Åɨîɠ ¾ɟ Ć×ɟ ÑɟÖ ßɮ? 

A  Cathode | ¾ɮÎɨÊ 

B  Electrolyte | {ÙɭĆŘɨÙɟ{È 

C  Electrodes | {ÙɭĆŘɨÊ 

D  Carbon rod | ¾ɟÔxÑ ØɦÊ 

 
73   Which electrolyte is used in lead-acid 

battery? | ÙɡÊπ¤εÞÊ ÔɮÈØɡ Öʃ η¾Þ {ÙɭĆŘɨÙɟ{È ¾ɟ 
}Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Zinc chloride | ȒÅɰ¾ ĆÙɨØɟ{Ê 

B  Sulphuric acid | Þġě×ȕȎØ¾ ¤εÞÊ 

C  Alkaline solution | àɟØɡ× ÁɨÙ 
D  Potassium hydroxide solution | ÒɨÈɭεÜ×Ö 

ßɟ{ŚɦĆÞɟ{Ê ÞÖɟÐɟÑ 

 
74   How batteries are classified? | ÔɮÈØɡ ¾ɨ ¾ɮÞɭ 
ÛÀɶ¾ȗÍ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Dry cells and alkaline cells | Þȕ¿ɠ ¾ɨεÜ¾ɟ¤ɯ 

©Ø àɟØɡ× ¾ɨεÜ¾ɟ¤ɯ 

B  Button cells and lithium cells | ÔÈÑ ÞɭÙ ©Ø 
εÙκÎ×Ö ÞɭÙ 
C  Primary cells and secondary cells | ŢɟÎεÖ¾ 

¾ɨεÜ¾ɟ¤ɯ ©Ø ʬθÛÍɠ×¾ ¾ɨεÜ¾ɟ¤ɯ 

D  Cylindrical cells and rectangular cells | 

ÔɭÙÑɟ¾ɟØ ¾ɨεÜ¾ɟ¤ɯ ©Ø z×Íɟ¾ɟØ ¾ɨεÜ¾ɟ¤ɯ 

 
75   What is the rated output voltage of a silver 

oxide cell? | εÞġÛØ ¦ĆÞɟ{Ê ÞɭÙ ¾ɟ ØɭÈɭÊ z}ÈÒȓÈ 
ÛɨġÈɭÅ Ć×ɟ ßɮ? 

A  1.0 VDC | 1.0 ÛɠΦÊɠΦÞɠΦ 
B  1.5 VDC | 1.5 ÛɠΦÊɠΦÞɠΦ 
C  2.5 VDC | 2.5 ÛɠΦÊɠΦÞɠΦ 
D  4.0 VDC | 4.0 ÛɠÊɠÞɠ 

 
76   Which battery is used for cellular phones? | 

ÞɭÙȓÙØ ÓɨÑ ¾ɭ εÙ¤ η¾Þ ÔɮÈØɡ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ 
ßɮ? 

A  Nickel ion | ȑÑ¾Ù z×Ñ 

B  Lithium ion | εÙκÎ×Ö z×Ñ 
C  Zinc chloride | ȒÅɰ¾ ĆÙɨØɟ{Ê 

D  Sodium sulphur | ÞɨιÊ×Ö ÞġÓØ 
 

77   Which material is used for negative terminal 

of alkaline manganese dioxide batteries? | àɟØɡ× 

ÖʅÀÑɠÅ Êɟ{¦ĆÞɟ{Ê ÔɮÈØɡ ¾ɭ Ñ¾ɟØɟĕÖ¾ ÈεÖxÑÙ ¾ɭ 
εÙ¤ η¾Þ ÞɟÖŐɠ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Zinc | ÅĦÍɟ 

B  Lithium | εÙκÎ×Ö 

C  Cadmium | ¾ɮÊεÖ×Ö 

D  Nickel hydroxide | ȑÑ¾Ù ßɟ{ŚɦĆÞɟ{Ê 

 
78   What is the unit of electric charge? | θÛʬ×ȓÍ 
zÛɭÜ ¾ɥ {¾ɟ| Ć×ɟ ßɮ? 

A  Volts | ÛɨġÈ 

B  Hertz | ßʨxé 

C  Ampere | ¤ĞÒɭ×Ø 

D  Coulomb | ¾ȕÙĞÔ 
 

79   How batteries are classified based on their 

working? | ÔɮÈØɡ ¾ɨ }Ñ¾ɭ ¾ɟÖ ¾ɭ zÐɟØ ÒØ ¾ɮÞɭ 
ÛÀɶ¾ȗÍ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Dry cells and alkaline cells | Þȕ¿ɠ ¾ɨεÜ¾ɟ¤ɯ 

©Ø àɟØɡ× ¾ɨεÜ¾ɟ¤ɯ 

B  Button cells and lithium cells | ÔÈÑ ÞɭÙ ©Ø 
εÙκÎ×Ö ÞɭÙ 
C  Primary cells and secondary cells | ŢɟÎεÖ¾ 

¾ɨεÜ¾ɟ¤ɯ ©Ø ʬθÛÍɠ×¾ ¾ɨεÜ¾ɟ¤ɯ 

D  Cylindrical cells and rectangular cells | 

ÔɭÙÑɟ¾ɟØ ¾ɨεÜ¾ɟ¤ɯ ©Ø z×Íɟ¾ɟØ ¾ɨεÜ¾ɟ¤ɯ 

 
80   What is the rated voltage of a single cell in 

lead acid battery? | ÙɡÊ ¤εÞÊ ÔɮÈØɡ Öʃ ¤¾Ù ¾ɨεÜ¾ɟ 

¾ɟ ØɭÈɭÊ ÛɨġÈɭÅ Ć×ɟ ßɮ? 

A  1.5 V | 1.5 Ûɠ 
B  2.0 V | 2.0 Ûɠ 
C  2.2 V | 2.2 Ûɠ 
D  12 V | 12 Ûɠ 
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81   What is the range of current rating of lead 

acid batteries used in automobiles? | ¦ÈɨÖɨÔɟ{Ù 

Öʃ Ţ×ȓĆÍ ÞɠÞɟ ¤εÞÊ ÔɮÈØɡ ¾ɥ ÛÍxÖɟÑ ØɭȏÈɰÀ ¾ɥ ÞɠÖɟ 
Ć×ɟ ßɮ? 

A  5 to 10 Amp | 5 Þɭ 10 Amp 

B  10 to 25 Amp | 10 Þɭ 25 Amp 

C  2.5 to 4.5 Amp | 2.5 Þɭ 4.5 Amp 

D  100 to 400 Amp | 100 Þɭ 400 Amp 

 
82   What is the colour of positive electrode in 

fully charged lead acid battery? | ÒȕØɡ ÍØß Þɭ ÃɟÅx 
ÙɡÊ ¤εÞÊ ÔɮÈØɡ Öʃ Þ¾ɟØɟĕÖ¾ {ÙɭĆŘɨÊ ¾ɟ ØɰÀ Ć×ɟ ßɮ? 

A  Red colour | ÙɟÙ ØɰÀ 

B  Grey colour | Őɭ ØɰÀ 

C  Reddish brown | ÙɟÙ ÕȕØɭ ØɰÀ 

D  Spongy grey colour | ĦÒɰÅɠ Őɭ ØɰÀ 

 
83   What is the specific gravity of concentrated 

sulphuric acid? | ¾ʃȏşÍ Þġě×ȕȎØ¾ ¤εÞÊ ¾ɟ θÛεÜĥÈ 

ÀȓȻĕÛ Ć×ɟ ßɮ? 

A  1.175  
B  1.245  
C  1.835  
D  1.945  

 
84   Which energy is converted by the battery to 

produce electricity? | ȐÔÅÙɡ ÔÑɟÑɭ ¾ɭ εÙ¤ ÔɮÈØɡ ¾ɨ 
η¾Þ ~Åɟx ʬÛɟØɟ ÒȎØÛȑÍxÍ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Electrical energy into light energy | Ţ¾ɟÜ 
~Åɟx Öʃ θÛʬ×ȓÍ ~Åɟx 

B  Chemical energy into electrical energy | 

ØɟÞɟ×ȑÑ¾ ~Åɟx θÛʬ×ȓÍ ~Åɟx Öʃ 
C  Mechanical energy into electrical energy | 

θÛʬ×ȓÍ ~Åɟx Öʃ ×ɟɰȐŝ¾ ~Åɟx 

D  Electrical energy into mechanical energy | 

×ɟɰȐŝ¾ ~Åɟx Öʃ θÛʬ×ȓÍ ~Åɟx 

 
85   What is the total voltage of six 1.5 V cells, 

connected in series? | Ŭȗɰ¿Ùɟ Öʃ Åȓîɭ Äß 1.5 V 

¾ɨεÜ¾ɟ¨ɰ ¾ɟ ¾ȓÙ ÛɨġÈɭÅ Ć×ɟ ßɮ? 

A  3 VDC | 3 ÛɠÊɠÞɠ 

B  6 VDC | 6 ÛɠÊɠÞɠ 

C  9 VDC | 9 ÛɠÊɠÞɠ 

D  12 VDC | 12 ÛɠΦÊɠΦÞɠΦ 
 

86   Which electrolyte is used in maintenance 

free lead acid batteries? | η¾Þ {ÙɭĆŘɨÙɟ{È ¾ɟ 
}Ò×ɨÀ Ø¿Ø¿ɟÛ ÖȓĆÍ ÙɡÊ ¤εÞÊ ÔɮÈØɡ Öʃ η¾×ɟ ÅɟÍɟ 
ßɮ? 

A  Gelled electrolyte | {ÙɭĆŘɨÙɟ{È εÖÙɟ ßȓz 

B  Sodium electrolyte | ÞɨιÊ×Ö {ÙɭĆŘɨÙɟ{È 

C  Ceramic electrolyte | εÞØɭεÖ¾ {ÙɭĆŘɨÙɟ{È 

D  Potassium electrolyte | ÒɨÈɟεÞ×Ö 

{ÙɭĆŘɨÙɟ{È 

 
87   What is the effect on a secondary cell 

supplying current to the load? | ÙɨÊ ¾ØÑɭ ¾ɭ εÙ¤ 
ÛÍxÖɟÑ Öʃ zÒȕȑÍx ¾ØÑɭ ÛɟÙɭ ÖɟĘ×εÖ¾ ÞɭÙ ÒØ Ć×ɟ 
ŢÕɟÛ ÒîÍɟ ßɮ? 

A  Leaking | Ùɡ¾ 
B  Charging | ÃɟÅx 

C  Unloading | }ÍØɟ| 

D  Discharging | ȑÑÛxßÑ 

 
88   What is the percentage of sulphuric acid in 

electrolyte used for lead-acid batteries? | ÙɡÊπ¤εÞÊ 
ÔɮÈØɡ ¾ɭ εÙ¤ {ĦÍɭÖɟÙ ßɨÑɭ ÛɟÙɭ {ÙɭĆŘɨÙɟ{È Öʃ 
Þġě×ȕȎØ¾ ¤εÞÊ ¾ɟ ŢȑÍÜÍ η¾ÍÑɟ ßɮ? 

A  12%  
B  25%  
C  27%  
D  40%  

 
89   What is the name of the process to maintain 
the recommended level of electrolyte in lead-acid 

battery cell? | ÙɡÊπ¤εÞÊ ÔɮÈØɡ ÞɭÙ Öʃ {ÙɭĆŘɨÙɟ{È ¾ɭ 
yÑȓÜɰεÞÍ ĦÍØ ¾ɨ ÔÑɟ¤ Ø¿Ñɭ ¾ɥ ŢηŎ×ɟ ¾ɟ ÑɟÖ Ć×ɟ 
ßɮ? 

A  Recharging | ȎØÃɟȒÅʋÀ 

B  Topping up | ¾ɭ ~ÒØ ÊɟÙÑɟ 

C  Charging the cell | ÞɭÙ ¾ɨ ÃɟÅx ¾ØÑɟ 

D  Cycling of the cell | ÞɭÙ ¾ɥ Þɟ{η¾εÙɰÀ 
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90   What is the electrolyte level maintained 
above the top of the plates in lead acid battery 

cells? | ÙɡÊ ¤εÞÊ ÔɮÈØɡ ¾ɨεÜ¾ɟ¨ɰ Öʃ ĚÙɭÈʇ ¾ɭ ÜɠÝx Þɭ 
~ÒØ {ÙɭĆŘɨÙɟ{È ĦÍØ Ć×ɟ ÔÑɟ¤ Ø¿ɟ ÅɟÍɟ ßɮ? 

A  2 mm to 4 mm | 2 εÖÖɠ Þɭ 4 εÖÖɠ 

B  5 mm to 8 mm | 5 εÖÖɠ Þɭ 8 εÖÖɠ 

C  10 mm to 15 mm | 10 εÖÖɠ Þɭ 15 εÖÖɠ 

D  16 mm to 25 mm | 16 εÖÖɠ Þɭ 25 εÖÖɠ 

 
91   What is the lowest voltage level of 

discharging the lead-acid battery? | ÙɭÊπ¤εÞÊ ÔɮÈØɡ 

¾ɭ ȑÑÛxßÑ ¾ɟ ÞÔÞɭ ¾Ö ÛɨġÈɭÅ ĦÍØ Ć×ɟ ßɮ? 

A  1.2 V | 1.2 Ûɠ 
B  1.5 V | 1.5 Ûɠ 
C  1.7 V | 1.7 Ûɠ 
D  1.85 V | 1.85 Ûɠ 

 
92   Which is the additional percentage of power 
delivered by the lithium Ion compared to NiMH 

battery? | NiMH ÔɮÈØɡ ¾ɥ ÍȓÙÑɟ Öʃ εÙκÎ×Ö z×Ñ 
ʬÛɟØɟ ŢÏǡ ÜȒĆÍ ¾ɟ yȑÍȎØĆÍ ŢȑÍÜÍ ¾ɩÑ Þɟ ßɮ? 

A  0.15  
B  25%  
C  40%  
D  60%  

 
93   Which battery is made from non-toxic 

materials? | ÀɮØπθÛÝɟĆÍ ÒÏɟÎʝ Þɭ ¾ɩÑ Þɠ ÔɮÈØɡ ÔÑɟ| 
ÅɟÍɠ ßɮ? 

A  Lithium ion (Li-Ion) | εÙκÎ×Ö z×Ñ όÙɡπ
z×Ñύ 
B  Lithium polymer (Li-Poly) | εÙκÎ×Ö ÒɦεÙÖØ 

όLi-Poly) 

C  Nickel cadmium (Nicad) | ȑÑ¾Ù ¾ɮÊεÖ×Ö 

όȑÑ¾Êύ 
D  Nickel metal hydride (NiMH) | ȑÑ¾Ù ÐɟÍȓ 
ßɟ{Śɟ{Ê όNiMH) 

 
94   Which rechargeable cell is designed with 

conductive polymer? | ¾ɩÑ Þɟ ȎØÃɟÅɴÔÙ ÞɭÙ 
ŢÛɟß¾ɥ× ÔßȓÙ¾ ¾ɭ ÞɟÎ ιÊéɟ{Ñ η¾×ɟ À×ɟ ßɮ? 

A  Plastic cell | ĚÙɟȒĦÈ¾ ÞɭÙ 

B  Lead acid cell | ÙɡÊ ¤εÞÊ ÞɭÙ 
C  Nickel metal hydride cell | ȑÑ¾Ù ÐɟÍȓ ßɟ{Śɟ{Ê 

ÞɭÙ 
D  Gelled electrolyte lead acid cell | ÀɭġÊ 
{ÙɭĆŘɨÙɟ{È ÙɭÊ ¤εÞÊ ÞɭÙ 

 
95   Which method is adopted to charge a car 

battery with voltage rating of 2.3 V per cell? | 2.3 Ûɠ 
ŢȑÍ ÞɭÙ ¾ɥ ÛɨġÈɭÅ ØɭȏÈɰÀ ¾ɭ ÞɟÎ ¾ɟØ ÔɮÈØɡ ÃɟÅx ¾ØÑɭ 
¾ɭ εÙ¤ ¾ɩÑ Þɠ θÛκÐ yÒÑɟ| ÅɟÍɠ ßɮ? 

A  Float charging method | ěÙɨÈ ÃɟȒÅʋÀ θÛκÐ 

B  Trickle charging method | ȏŘ¾Ù ÃɟȒÅʋÀ θÛκÐ 

C  Constant current charging method | ÙÀɟÍɟØ 

ÃɟÙȕ ÃɟȒÅʋÀ θÛκÐ 

D  Constant voltage charging method | ÙÀɟÍɟØ 

ÛɨġÈɭÅ ÃɟÅx ¾ØÑɭ ¾ɥ θÛκÐ 

 
96   What is the use of battery analyzers with 

rapid-test program? | “ÔɮÈØɡ ¤ÑɟÙɟ{ÅØ ¾ɟ ØɮθÒÊπ

ÈɭĦÈ ¾ɟ×xŎÖ ÞɟÎ Ć×ɟ }Ò×ɨÀ ßɨÍɟ ßɮ 
A  Test the battery life | ÔɮÈØɡ ÅɠÛÑ ¾ɟ ÒØɡàÌ 
¾Øʃ 

B  Test the load current delivered | ÙɨÊ ÛÍxÖɟÑ 

¾ɟ ÒØɡàÌ ¾Øʃ 

C  Test the charging current of battery | ÔɮÈØɡ ¾ɭ 
ÃɟȒÅʋÀ ¾ØɰÈ ¾ɟ ÒØɡàÌ ¾Øʃ 

D  Indicate the health condition of battery | ÔɮÈØɡ 

¾ɥ ĦÛɟĦĖ× ȒĦÎȑÍ ¾ɟ Þɰ¾ɭÍ Ïʃ 
 

97   Which device is used to test the fully 

charged condition of a lead acid battery cell? | {ÑÖɭ 
Þɭ ¾ɩÑ Þɠ ιÊÛɟ{Þ ÙɡÊ ¤εÞÊ ÔɮÈØɡ ÞɭÙ ¾ɭ ÓȕÙɡ ÃɟÅxÊ 

¾ɰÊɠÜÑ ¾ɨ Ãɭ¾ ¾ØÑɭ ¾ɭ εÙ¤ }Ò×ɨÀ ¾ɥ ÅɟÍɠ ßɮ 
A  Multimeter | ÖġÈɡÖɠÈØ 

B  Hydrometer | ßɟ{ŚɨÖɠÈØ 

C  DC voltmeter | ÊɠÞɠ ÛɟġÈÖɠÈØ 

D  High rate discharge tester | }ċÃ ÏØ ȑÑÛxßÑ 

ÒØɡà¾ 
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98   Why the load testing is done on the lead-

acid battery? | ÙɡÊ ¤εÞÊ ÔɮÈØɡ Öʃ ÙɨÊ ÈɭȒĦÈɰÀ Ć×ʇ ¾ɥ 
ÅɟÍɠ ßɮ 
A  Test the dimensional accuracy | z×ɟÖɠ 
ÞÈɡ¾Íɟ ¾ɟ ÒØɡàÌ ¾Øʃ 

B  Verify the rated power delivery | ØɭÈɭÊ ȐÔÅÙɡ 

θÛÍØÌ Þĕ×ɟθÒÍ ¾Øʃ 

C  Measure the rated output voltage | ØɭÈɭÊ 

z}ÈÒȓÈ ÛɨġÈɭÅ ¾ɨ ÖɟÒʃ 

D  Test I2R power loss in the battery cell | ÔɮÈØɡ 

ÞɭÙ Öʃ I2R ÒɟÛØ ÙɦÞ ¾ɟ ÒØɡàÌ ¾Øʃ 
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99   Which bearing is supporting the shaft of 
moving coil assembly in a PMMC instrument? | 

Òɠ¤Ö¤ÖÞɠ {ɰĦȩÖʃÈ Öʃ ÖȕθÛɰÀ ¾ɦ{Ù yÞʃÔÙɡ ¾ɭ ÜɟěÈ 
¾ɟ ÞÖÎxÑ ¾ØÑɭ ÛɟÙɟ ¾ɩÑ Þɟ yÞØ ßɮ? 

A  Steel bearings | ĦÈɡÙ Ôɠ×ȎØɰÀ 

B  Bush bearings | ÔȓÜ Ôɭ×ȎØɰÀ 

C  Jewelled bearings | ÅιîÍ Ôɭ×ȎØɰÀ 

D  Gun metal bearings | ÔɰÏȕ¾ ÐɟÍȓ Ôɠ×ȎØɰÀ 

 
100   What is the full form of the abbreviation 

PMMC meter? | ÞɰνàĚÍ ÑɟÖ PMMC ÖɠÈØ ¾ɟ ÒȕÌx 
ȼÒ Ć×ɟ ßɮ? 

A  Parallel Magnet Moving Coil meter | Parallel 
Magnet Moving Coil meter 
B  Position Magnet Moving Coil meter | Position 
Magnet Moving Coil meter 
C  Principle Magnet Moving Coil meter | 
Principle Magnet Moving Coil meter 
D  Permanent Magnet Moving Coil meter | 
Permanent Magnet Moving Coil meter 

 
101   Which type of wave is generated in Schmitt 

trigger circuit? | Schmitt ȏŘÀØ Þη¾xÈ Öʃ η¾Þ Ţ¾ɟØ 
¾ɥ ÍØɰÀ }ĕÒęÑ ßɨÍɠ ßɮ? 

A  Sine wave | Þɟ{Ñ ÍØɰÀ 

B  Square wave | ĦĆÛɭØ ÛɭÛ 

C  Saw tooth wave | Þɦ ÈȕÎ ÛɭÛ 

D  Triangular wave | Ȑŝ¾ɨÌɠ× ÛɭÛ 

 
102   Which electrode controls brightness of the 

image on the screen of oscilloscope? | ¾ɩÑ Þɟ 
{ÙɭĆŘɨÊ zĦÈÞɠÙĦ¾Ò ¾ɥ ĦŎɥÑ ÒØ ÄθÛ ¾ɥ ÃÖ¾ 
¾ɨ ȑÑ×ɰȐŝÍ ¾ØÍɟ ßɮ? 

A  Anode | ¤ÑɨÊ 

B  Cathode | ¾ɮÎɨÊ 

C  Control grid | ȑÑ×ɰŝÌ κŐÊ 
D  Focussing electrode | ÷ɨ¾εÞɰÀ {ÙɭĆŘɨÊ 

 
103   Which band is used for UHF in 
International Telecommunication System? | 

yɰÍØɟxĥŘɡ× ÏȕØÞɰÃɟØ ŢÌɟÙɡ Öʃ UHF ¾ɭ εÙ¤ η¾Þ ÔʅÊ ¾ɟ 
}Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Band 4 | ÔʅÊ 4 

B  Band 6 | ÔʅÊ 6 

C  Band 9 | ÔʅÊ 9 

D  Band 11 | ÔʅÊ 11 

 
104   Which parameter is measured by a 

multimeter? | ¾ɩÑ Þɟ ÒɮØɟÖɠÈØ ¤¾ ÖġÈɡÖɠÈØ ʬÛɟØɟ 

ÖɟÒɟ ÅɟÍɟ ßɮ? 

A  Voltage | ÛɨġÈɭÅ 

B  Energy | ~Åɟx 

C  Frequency | zÛȗθǡ 

D  Time duration | ÞÖ× yÛκÐ 

 
105   What is the name of the symbol marked X 

in the panel meter? | ÒɮÑÙ ÖɠÈØ Öʃ X yɰη¾Í κÃħÑ 
¾ɟ ÑɟÖ Ć×ɟ ßɮ? 

 
A  Moving coil meter | ÖȕθÛɰÀ ĆÛɟ{Ù ÖɠÈØ 

B  Moving iron meter | ÖȕθÛɰÀ z×ØÑ ÖɠÈØ 

C  Hot wire instrument | ßɦÈ Ûɟ×Ø {ɰĦȩÖʃÈ 

D  Moving coil with rectifier | ÖȕθÛɰÀ ĆÛɟ{Ù θÛÎ 
ØɭȒĆÈÓɟ×Ø 

 
106   Which torque is used in PMMC meter 

movement? | Òɠ¤Ö¤ÖÞɠ ÖɠÈØ ÖȕÛÖʃÈ Öʃ η¾Þ Èɟ¾x 
¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Low torque | ¾Ö Èɦ¾x 

B  High torque | }ċÃ Èɦ¾x 

C  Moderate torque | ÖĘ×Ö Èɦ¾x 

D  Insufficient torque | yÒ×ɟxĚÍ Èɦ¾x 
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107   Which instrument used to measure 

resistance, capacitance and inductance? | ŢȑÍØɨÐ, 

ÐɟȎØÍɟ ©Ø yκÐĥÉɟÒÑ ¾ɨ ÖɟÒÑɭ ¾ɭ εÙ¤ η¾Þ }Ò¾ØÌ 
¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  LCR bridge | LCR ȐŤÅ 
B  Wein bridge | ÛɭÑ ȐŤÅ 
C  Kelvin bridge | ¾ɭȒġÛÑ ȐŤÅ 
D  Wheatstone bridge | ģßɡÈĦÈɨÑ ȐŤÅ 

 
108   Find the value of shunt resistance required 
for 1 mA meter to extend the range and measure 10 

mA (RM = 27 Ohm) ? | ÞɠÖɟ ¾ɟ θÛĦÍɟØ ¾ØÑɭ ©Ø 10 

mA (RM = 27 ̈ Öύ ¾ɨ ÖɟÒÑɭ ¾ɭ εÙ¤ 1 mA ÖɠÈØ ¾ɭ 
εÙ¤ zÛĤ×¾ ÜɰÈ ŢȑÍØɨÐ ¾ɟ ÖɟÑ áɟÍ ¾ɥȒÅ¤? 

A  1 Ohm | 1 ̈ Ö 

B  2 Ohms | 2 ̈ Ö 

C  3 Ohms | 3 ̈ Ö 

D  4 Ohms | 4 ̈ Ö 

 
109   In which arrangement the high value of 
resistor is connected to extend the range of 

voltmeter? | ÛɨġÈÖɠÈØ ¾ɥ ÞɠÖɟ ¾ɟ θÛĦÍɟØ ¾ØÑɭ ¾ɭ 
εÙ¤ η¾Þ ŢÌɟÙɡ Öʃ Øɨ¾ÑɭÛɟÙɟ ¾ɟ }ċÃ Öȕġ× Åȓîɟ ßȓz 
ßɮ? 

A  Star | ĦÈɟØ 

B  Delta | ÊɭġÈɟ 

C  Series | ÞɠØɡÅ 

D  Parallel | ÒɮØɭÙÙ 

 
110   In which analog meter the battery is 

provided? | ÔɮÈØɡ η¾Þ ¤ÑɟÙɦÀ ÖɠÈØ Öʃ Ïɡ À| ßɮ? 

A  Ammeter | ¤ȒĞÖÈØ 

B  Voltmeter | ÛɟġÈÖɠÈØ 

C  Ohm meter | ̈ Ö ÖɠÈØ 

D  Watt meter | ÛɟÈ ÖɠÈØ 

 
111   Which function control in CRO, adjust the 

trace sharper? | ÞɠzØ ̈Öʃ ¾ɩÑ Þɟ ÷ɰĆÜÑ ȑÑ×ɰŝÌ, 

ŘɭÞ ÜɟÒxØ ¾ɨ ÞÖɟ×ɨȒÅÍ ¾Øʃ? 

A  Focus | Óɨ¾Þ 

B  Intensity | ÍɠūÍɟ 

C  Time/Div trigger | ÞÖ× κ Div ȏŘÀØ 

D  Amplitude (V/Div) | z×ɟÖ όV / Div) 

 
112   Which meter uses a moving coil for 

measurement? | ÖɟÒ ¾ɭ εÙ¤ ¾ɩÑ Þɟ ÖɠÈØ ¤¾ 
ÀȑÍÖɟÑ ĆÛɟ{Ù ¾ɟ }Ò×ɨÀ ¾ØÍɟ ßɮ? 

A  LCR meter | ¤ÙÞɠzØ ÖɠÈØ 

B  PMMC meter | Òɠ¤Ö¤ÖÞɠ ÖɠÈØ 

C  MI repulsion type | ¤Öz| ŢȑÍ¾ÝxÌ Ţ¾ɟØ 

D  MI attraction type | ¤Öz| z¾ÝxÌ Ţ¾ɟØ 

 
113   Which parameter is used in the working of 

moving coil meter? | ÃÙÍɠ ĆÛɟ{Ù ÖɠÈØ ¾ɭ ¾ɟÖ Öʃ 
η¾Þ ÒɮØɟÖɠÈØ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Spring control | ȒĦŢɰÀ ¾ĔŘɨÙ 

B  Stray magnetic fields | ĦŘɭ ÖɮĈÑɭȏÈ¾ ÷ɥġʪÞ 

C  Eddy current damping | ¤ʪÊɠ ¾ØɰÈ ÊɰθÒɰÀ 

D  Permanent magnetic fields | ÒØÖɟÑʃÈ 

ÖɮĈÑɭȏÈ¾ ÷ɥġʪÞ 
 

114   What is the advantage of using digital 

multimeter? | ιÊȒÅÈÙ ÖġÈɡÖɠÈØ ¾ɟ }Ò×ɨÀ ¾ØÑɭ 
¾ɟ Ć×ɟ Óɟ×Ïɟ ßɮ? 

A  Accuracy | ÜȓʬÐÍɟ 
B  Linear scale | Øɮζ¿¾ ÒɮÖɟÑɭ 

C  Easy portability | zÞɟÑ ÒɨÈɴȐÔεÙÈɡ 
D  Logarithmic scale | ÙÁȓÀÌ¾ ÖɟÒ¾ 

 
115   Which meter movement is not affected by 

stray magnetic fields? | ¾ɩÑ Þɭ ÖɠÈØ ¾ɥ ÀȑÍ ĦŘɭ 
ÃȓɰÔ¾ɥ× àɭŝʇ Þɭ ŢÕɟθÛÍ Ñßɡɰ ßɨÍɠ ßɮ? 

A  PMMC meter | Òɠ¤Ö¤ÖÞɠ ÖɠÈØ 

B  Thermo couple meter | ÎÖɼ ×ȓÀÙ ÖɠÈØ 

C  MI meter - attraction type | ¤Öz| ÖɠÈØ π 
z¾ÝxÌ Ţ¾ɟØ 
D  MI meter - Repulsion type | ¤Öz| ÖɠÈØ π 
ŢȑÍ¾ÝxÌ Ţ¾ɟØ 
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116   In which measuring instrument this 

movement is used? | η¾Þ ÖɟÒ¾ ×ɰŝ Öʃ {Þ ÀȑÍ ¾ɟ 
}Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

 
A  Moving coil instrument | ĆÛɟ{Ù {ɰĦȩÖʃÈ 

ȏßÙɟÑɟ 

B  Attraction type MI meter | z¾ÝxÌ Ţ¾ɟØ 
¤Öz| ÖɠÈØ 

C  Repulsion type MI meter | ŢȑÍ¾ÝxÌ Ţ¾ɟØ 
¤Öz| ÖɠÈØ 

D  Centre zero galvanometer | ¾ʃş Üȕę× 
ÀɮġÛɭÑɨÖɠÈØ 

 
117   In which position, the moving coil meter is 

kept for measurements? | η¾Þ ȒĦÎȑÍ Öʃ, ÔïÍɭ ßȓ¤ 
ĆÛɟ{Ù ÖɠÈØ ¾ɨ ÖɟÒ ¾ɭ εÙ¤ Ø¿ɟ ÅɟÍɟ ßɮ? 

 
A  Vertical | ÞɠÐɟ 

B  Horizontal | àɮȑÍÅ 

C  Inclined by 45° | 45 ° Þɭ Æȓ¾ɟ ßȓz 

D  Inclined by 60° | 60 ° Þɭ Æȓ¾ɟ ßȓz 

 
118   Which characteristics enable the deflection 
of pointer in the attraction type moving iron meter? 

| Ùɨßɭ ¾ɭ ÖɠÈØ ¾ɭ z¾ÝxÌ Ţ¾ɟØ Öʃ Òɦ{ɰÈØ ¾ɭ θÛàɭÒÌ 

¾ɨ ¾ɩÑ Þɠ θÛÜɭÝÍɟ¤ɯ ÞàÖ ÔÑɟÍɠ ßʅ? 

A  Weight of the soft iron pieces | ÑØÖ Ùɨßɭ ¾ɭ 
Èȓ¾îʇ ¾ɟ ÛÅÑ 
B  Deflection is inversely proportional to current 

| θÛàɭÒÌ ÐɟØɟ ¾ɭ ģ×ȓĕŎÖɟÑȓÒɟÍɠ ßɨÍɟ ßɮ 
C  Deflection is independent of current direction 

| θÛàɭÒÌ ÛÍxÖɟÑ ȏÏÜɟ Þɭ ĦÛÍɰŝ ßɮ 
D  Deflecting and controlling torques are 

unequal | Èɟ¾ʝ ¾ɥ yÛßɭÙÑɟ ©Ø ȑÑ×ɰŝÌ yÞÖɟÑ ßɮ 
 

119   Which band of frequency is used for 
RADAR in frequency spectrum allotted by the 
International Telecommunication Union (ITU)? | 

yɰÍØɟxĥŘɡ× ÏȕØÞɰÃɟØ ÞɰÁ όITU) ʬÛɟØɟ zÛɰȏÈÍ zÛȗθǡ 
ĦÒɭĆŘÖ Öʃ RADAR ¾ɭ εÙ¤ zÛȗθǡ ¾ɭ η¾Þ ÔʅÊ ¾ɟ 
}Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  ITU band - 4 | z|Èɡ×ȕ ÔʅÊ π 4 

B  ITU band - 6 | z|Èɡ×ȕ ÔʅÊ π 6 

C  ITU band - 8 | z|Èɡ×ȕ ÔʅÊ π 8 

D  ITU band - 10 | z|Èɡ×ȕ ÔʅÊ π 10 

 
120   Which control is used in repulsion type 
moving iron instrument to keep the pointer at zero 

position? | Òɦ{ɰÈØ ¾ɨ ÖȕθÛɰÀ z×ØÑ {ɰĦȩÖʃÈ Öʃ η¾Þ 
¾ɰŘɨÙ ¾ɟ {ĦÍɭÖɟÙ Òɦ{ɰÈØ ¾ɨ ÅɠØɨ ÒɨȒÅÜÑ ÒØ Ø¿Ñɭ 
¾ɭ εÙ¤ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Spring control | ȒĦŢɰÀ ¾ĔŘɨÙ 

B  Air damping control | ¤×Ø ÊɰθÒɰÀ ¾ɰŘɨÙ 

C  Magnetic repulsion control | ÃȓɰÔ¾ɥ× ŢȑÍ¾ÝxÌ 

ȑÑ×ɰŝÌ 

D  Magnetic attraction control | ÃȓɰÔ¾ɥ× z¾ÝxÌ 
ȑÑ×ɰŝÌ 
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121   Which frame is used for winding the coil of 

PMMC meter? | Òɠ¤Ö¤ÖÞɠ ÖɠÈØ ¾ɭ ¾ɦ{Ù ¾ɨ 
ÁȓÖɟÛÏɟØ ¾ØÑɭ ¾ɭ εÙ¤ η¾Þ ţɭÖ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ 
ßɮ? 

A  Steel frame | ĦÈɡÙ ţɭÖ 
B  Wooden frame | Ù¾îɠ ¾ɟ ţɭÖ 
C  Ceramic frame | εÞØɭεÖ¾ ţɭÖ 
D  Aluminium frame | ¤ġ×ȕÖɠȑÑ×Ö ţɭÖ 

 
122   What is the purpose of damping torque in 

PMMC meter? | Òɠ¤Ö¤ÖÞɠ ÖɠÈØ Öʃ Èɨâ εÕÀɨÑɭ ¾ɟ 
}ʬÏɭĤ× Ć×ɟ ßɮ? 

A  Control the pivot point | ÐȓØɡ ȐÔɰÏȓ ¾ɨ ȑÑ×ɰȐŝÍ 

¾Øʃ 

B  Control the jewel bearing | čÛɭÙ Ôɭ×ȎØɰÀ ÒØ 
ȑÑ×ɰŝÌ Ø¿ʃ 

C  Control the magnetic field | ÃȓɰÔ¾ɥ× àɭŝ ¾ɨ 
ȑÑ×ɰȐŝÍ ¾Øʃ 

D  Control the swinging of the coil | ¾ɦ{Ù ¾ɭ 
ȒĦÛɰκÀɰÀ ¾ɨ ȑÑ×ɰȐŝÍ ¾Øʃ 

 
123   Why the soft iron pieces in the moving iron 

meter is tongue shaped? | Ùɨßɭ ¾ɭ ÖɠÈØ Öʃ ÑØÖ Ùɨßɭ 
¾ɭ Èȓ¾îɭ ÅɠÕ ¾ɭ z¾ɟØ ¾ɭ Ć×ʇ ßɨÍɭ ßʅ? 

A  To generate heat | ÍɟÒ }ĕÒęÑ ¾ØÑɟ 

B  To damp the oscillations | ÏɨÙÑʇ ¾ɨ ÑÖ ¾ØÑɭ 
¾ɭ εÙ¤ 
C  To achieve uniformity of scale | ÒɮÖɟÑɭ ¾ɥ 
¤¾ȼÒÍɟ ŢɟĚÍ ¾ØÑɭ ¾ɭ εÙ¤ 
D  To produce magnetic attraction | ÃȓɰÔ¾ɥ× 
z¾ÝxÌ ÒɮÏɟ ¾ØÑɭ ¾ɭ εÙ¤ 

 
124   How the sensitivity of voltmeter is 

determined? | ÛɟġÈÖɠÈØ ¾ɥ ÞɰÛɭÏÑÜɠÙÍɟ ¾ɮÞɭ 
ȑÑÐɟxȎØÍ ¾ɥ ÅɟÍɠ ßɮ? 

A  FSD current | ¤Ó¤ÞÊɠ ¾ØɰÈ 

B  Meter coil resistance | ÖɠÈØ ĆÛɟ{Ù ŢȑÍØɨÐ 

C  Ohms per volt rating | ̈ Ö ŢȑÍ ÛɨġÈ ØɭȏÈɰÀ 

D  Maximum voltage measurement | yκÐ¾ÍÖ 
ÛɨġÈɭÅ ÖɟÒ 

 
125   What is the maximum test voltage of the 

moving iron volt meter? | ÖȕθÛɰÀ z×ØÑ ÛɨġÈ ÖɠÈØ 
¾ɟ yκÐ¾ÍÖ ÒØɡàÌ ÛɨġÈɭÅ Ć×ɟ ßɮ? 

 
A  1000 V | 1000 Ûɠ 
B  1500 V | 1500 Ûɠ 
C  2000 V | 2000 Ûɠ 
D  2500 V | 2500 Ûɠ 

 
126   What is the name of the procedure carried 
out to ensure the trustworthy standards of the 

measuring instrument? | ÖɟÒÑɭ ÛɟÙɭ }Ò¾ØÌ ¾ɭ 
ÕØɨÞɭÖɰÏ ÖɟÑ¾ʇ ¾ɨ ÞȓȑÑȒĤÃÍ ¾ØÑɭ ¾ɭ εÙ¤ ¾ɥ À| 
ŢηŎ×ɟ ¾ɟ ÑɟÖ Ć×ɟ ßɮ? 

A  Calibration | ¾ɮεÙŤɭÜÑ 

B  Range test | ØʃÅ ÈɭĦÈ 

C  Re-alignment | ηÓØ Þɭ ÞɰØɭ¿Ì 

D  Testing standards | ÒØɡàÌ ÖɟÑ¾ʇ 
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127   How the accuracy of amplitude and 

frequency measured by CRO is checked? | ÞɠzØ ̈
ʬÛɟØɟ ÖɟÒɠ À| ¤ĞÓɭÈȓÊɭ ©Ø zÛȗθǡ ¾ɥ ÞÈɡ¾Íɟ ¾ɮÞɭ 
ÅɟɰÃɠ ÅɟÍɠ ßɮ? 

A  By sine wave signal | Þɟ{Ñ ÛɭÛ εÞĈÑÙ ʬÛɟØɟ 

B  By function generator | ÷ɰĆÜÑ ÅÑØɭÈØ ʬÛɟØɟ 

C  By complex wave form | ÅȏÈÙ ÍØɰÀ ȼÒ Þɭ 
D  By built-in calibration signal | ȐÔġÈ {Ñ 
¾ɮεÙŤɭÜÑ ʬÛɟØɟ 
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128   Which bonding material is used for 

soldering a joint? | η¾Þɠ Åɦ{ɰÈ ¾ɨ Èɟɰ¾ɟ ÙÀɟÑɭ ¾ɭ εÙ¤ 
η¾Þ ÞɰÔɰÐ ÞɟÖŐɠ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Oil | ÍɭÙ 

B  Flux | ěÙĆÞ 
C  Acid | yĞÙ 
D  Grease | Őɠé 

 
129   At which temperature the 6040 solder start 

meeting? | η¾Þ ÍɟÒÖɟÑ ÒØ 6040 ÞɨġÊȎØɰÀ εÖÙÑɟ 
Üȓȼ ßɨÍɟ ßɮ? 

A  100°C | 100 ιÊŐɠ ÞɭȒġÞ×Þ 

B  200°C | 200 ιÊŐɠ ÞɭȒġÞ×Þ 

C  300°C | 300 ιÊŐɠ ÞɭȒġÞ×Þ 

D  380°C | 380 ιÊŐɠ ÞɭȒġÞ×Þ 

 
130   Which step is important for soldering a 

joint? | ¤¾ Åɦ{ɰÈ Èɟɰ¾ɟ ÙÀɟÑɭ ¾ɭ εÙ¤ ¾ɩÑ Þɟ ¾ÏÖ 
ÖßĕÛÒȕÌx ßɮ? 

A  Heating the joint | Åɨî ¾ɨ ÀÖx ¾ØÑɟ 

B  Cooling the joint | Åɨî ¾ɨ ÉɰÊɟ ¾ØÑɟ 

C  Pasting the joint | Åɦ{ɰÈ ¾ɨ κÃÒ¾ɟÑɟ 

D  Cleaning the joint | Åɦ{ɰÈ ÞÓɟ| 

 
131   What is the range of temperature used in 

soldering station? | Èɟɰ¾ɟ ÙÀɟÑɭ ÛɟÙɭ ĦÈɭÜÑ Öʃ }Ò×ɨÀ 
η¾¤ ÅɟÑɭ ÛɟÙɭ ÍɟÒÖɟÑ ¾ɥ ÞɠÖɟ Ć×ɟ ßɮ? 

A  150°C to 450°C | 150 ° C Þɭ 450 ° C 

B  450°C to 600°C | 450 ° C Þɭ 600 ° C 

C  600°C to 800°C | 600 ° C Þɭ 800 ° C 

D  800°C to 1000°C | 800 ° C Þɭ 1000 ° C 

 
132   What is the name of the tool? | ÈȕÙ ¾ɟ ÑɟÖ 
Ć×ɟ ßɮ? 

 
A  Chopper tool | ÃɦÒØ ÈȕÙ 

B  Crimping tool | ηŎȒĞÒɰÀ ÈȕÙ 

C  Soldering iron | ÞɨġÊȎØɰÀ z×ØÑ 
D  Plunger de-soldering tool | ĚÙɰÅØ ÊɠπÞɨġÊȎØɰÀ 

ÈȕÙ 
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133   What is the name of the soldering iron tip? 

| Èɟɰ¾ɟ ÙÀɟÑɭ ÛɟÙɭ Ùɨßɭ ¾ɥ Ñɨ¾ ¾ɟ ÑɟÖ Ć×ɟ ßɮ? 

 
A  Conical | ¾ɨȑÑ¾Ù 

B  Pyramid | θÒØɟεÖÊ 

C  Chisel taper | κÃÞɭÙ ÈɭÒØ 

D  Round bevel | Øɟ}ɰÊ ÔɭÛÙ 

 
134   What is the name of flux used for soldering 

electronic components? | Èɟɰ¾ɟ ÙÀɟÑɭ ÛɟÙɭ 
{ÙɭĆŘɦȑÑ¾ }Ò¾ØÌʇ ¾ɭ εÙ¤ {ĦÍɭÖɟÙ ßɨÑɭ ÛɟÙɭ 
ěÙĆÞ ¾ɟ ÑɟÖ Ć×ɟ ßɮ? 

A  Resin | ØɟÙ 
B  Rosin | ØɟÙ 
C  Mild acid | ßġ¾ɟ yĞÙ 
D  Organic acid | ÅɮθÛ¾ ØÞɟ×Ñ 

 
135   How many types of soldering is used for 

joining metal surfaces? | ÐɟÍȓ ¾ɥ ÞÍßʇ Öʃ ÜɟεÖÙ 
ßɨÑɭ ¾ɭ εÙ¤ η¾ÍÑɭ Ţ¾ɟØ ¾ɭ Èɟɰ¾ɟ ÙÀɟÑɭ ¾ɟ }Ò×ɨÀ 
η¾×ɟ ÅɟÍɟ ßɮ? 

A  Two | Ïɨ 
B  Five | ÒɰÅ 

C  Four | ÃɟØ 
D  Three | ÍɠÑ 

 

136   What is the full form of the abbreviation 

SPDT used in switches? | ȒĦÛÃ Öʃ Ţ×ȓĆÍ ÞɰνàĚÍ 

ÑɟÖ SPDT ¾ɟ ÒȕÌx ȼÒ Ć×ɟ ßɮ? 

A  Single Phase Dual Throw | εÞɰÀÙ ÓɭÅ ÊȓyÙ Şɨ 
B  Single Pole Single Throw | εÞɰÀÙ ÒɨÙ εÞɰÀÙ 
Şɨ 
C  Single Pole Double Throw | εÞɰÀÙ ÒɨÙ ÊÔÙ Şɨ 
D  Shared Pole Double Throw | ÞɟÆɟ ÒɨÙ ÊÔÙ 
Şɨ 

 
137   Which ratio of tin-lead combination is used 

for electronic component soldering work? | ȏÈÑπ
ÙɡÊ Þɰ×ɨÅÑ ¾ɭ η¾Þ yÑȓÒɟÍ ¾ɟ }Ò×ɨÀ {ÙɭĆŘɦȑÑ¾ 

ÁÈ¾ Èɟɰ¾ɟ ÙÀɟÑɭ ¾ɭ ¾ɟÖ ¾ɭ εÙ¤ η¾×ɟ ÅɟÍɟ ßɮ? 

A  4060  
B  2.11805555555556  
C   6040  
D   6337  

 
138   When does the rosin flux melts in a 

soldering process? | Èɟɰ¾ɟ ÙÀɟÑɭ ¾ɥ ŢηŎ×ɟ Öʃ ØɨεÞÑ 

ěÙĆÞ ¾Ô θÒÁÙÍɟ ßɮ? 

A  After the solder melts | ÞɨġÊØ ¾ɭ ÔɟÏ θÒÁÙɟ 
ÏɭÍɟ ßɮ 
B  When the solder is melting | ÅÔ ÞɨġÊØ θÒÁÙ 
Øßɟ ßɮ 
C  During the solder is melting | ÞɨġÊØ ¾ɭ ÏɩØɟÑ 

θÒÁÙ Øßɟ ßɮ 
D  When the solder is heated | ÅÔ ÞɨġÊØ ÀØÖ 
η¾×ɟ ÅɟÍɟ ßɮ 
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139   What is the additional advantage of rosin 
flux used for soldering electronic components? | 

{ÙɭĆŘɦȑÑ¾ ÁÈ¾ʇ ¾ɨ ÞɨġÊØ ¾ØÑɭ ¾ɭ εÙ¤ }Ò×ɨÀ η¾¤ 
ÅɟÑɭ ÛɟÙɭ ØεÞÑ ěÙĆÞ ¾ɟ yȑÍȎØĆÍ ÙɟÕ Ć×ɟ ßɮ? 

A  It is non-conductive | ×ß ÀɮØπŢÛɟß¾ɥ× ßɮ 
B  It is good conductor | ×ß yċÄɟ ¾ɰÊĆÈØ ßɮ 
C  It is a chemical paste | ×ß ¤¾ ØɟÞɟ×ȑÑ¾ ÒɭĦÈ 
ßɮ 
D  Inorganic acid in nature | Ţ¾ȗȑÍ Öʃ y¾ɟÔxȑÑ¾ 

¤εÞÊ 

 
140   What is the full of the abbreviation DPDT 

used in switches? | ȒĦÛÃɭÞ Öʃ {ĦÍɭÖɟÙ ßɨÑɭ ÛɟÙɭ 
ÊɠÒɠÊɠÈɡ ¾ɟ ÞɰνàĚÍ ÑɟÖ Ć×ɟ ßɮ? 

A  Dual Phase Dual Throw | ÏɨßØɡ ÃØÌ ÏɨßØɡ 

Óʃ¾ 
 B  Double Pole Direct Throw | ÊÔÙ ÒɨÙ 

Êɟ×ØɭĆÈ Şɨ 

C  Direct Pole Double Throw | Êɟ×ØɭĆÈ ÒɨÙ ÊÔÙ 
Şɨ 
D  Double Pole Double Throw | ÊÔÙ ÒɨÙ ÊÔÙ 

Şɨ 
 

141   How is the soldering method used for 

joining large metal called? | Èɟɰ¾ɟ ÙÀɟÑɭ ¾ɥ θÛκÐ ¾ɟ 
}Ò×ɨÀ Ôîɭ ÐɟÍȓ Öʃ ÜɟεÖÙ ßɨÑɭ ¾ɭ εÙ¤ ¾ɮÞɭ η¾×ɟ ÅɟÍɟ 
ßɮ? 

A  Welding | ÛɭȒġÊɰÀ 

B  Brazing | Èɟɰ¾Ñɟ 

C  Hot soldering | ÀÖx Èɟɰ¾ɟ 

D  Soft soldering | ÑØÖ Èɟɰ¾ɟ 

 
142   How much time is required to make a 

quality soldered joint using soldering iron? | Èɟɰ¾ɟ 

ÙÀɟÑɭ ÛɟÙɭ Ùɨßɭ ¾ɟ }Ò×ɨÀ ¾Ø¾ɭ ¤¾ ÀȓÌÛǡɟ ÛɟÙɭ 
ÞɨġÊØ Åɦ{ɰÈ ÔÑɟÑɭ ¾ɭ εÙ¤ η¾ÍÑɟ ÞÖ× zÛĤ×¾ ßɮ? 

A  3 - 7 seconds | 3 - 7 Þɭ¾ɰÊ 

B  7 - 10 seconds | 7 - 10 Þɭ¾ɰÊ 

C  10 - 15 seconds | 10 - 15 Þɭ¾ɰÊ 

D  15 - 20 seconds | 15 - 20 Þɭ¾ɰÊ 

 
143   Which type of soldering is used for 

electronic circuit? | {ÙɭĆŘɦȑÑ¾ Þη¾xÈ ¾ɭ εÙ¤ η¾Þ 
Ţ¾ɟØ ¾ɭ ÞɨġÊȎØɰÀ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Brazing | ŤȒéɰÀ 

B  Soft soldering | ÞɦěÈ ÞɨġÊȎØɰÀ 

C  Hot soldering | ßɦÈ ÞɨġÊȎØɰÀ 

D  Hard soldering | ßɟÊx ÞɨġÊȎØɰÀ 

 
144   Which tool works on the principle of air 

suction? | Ûɟ×ȓ ÞĆÜÑ ¾ɭ εÞʬÐɟɰÍ ÒØ ¾ɩÑ Þɟ }Ò¾ØÌ 
¾ɟÖ ¾ØÍɟ ßɮ? 

A  Soldering iron | ÞɨġÊȎØɰÀ z×ØÑ 
B  Soldering wick | ÞɨġÊȎØɰÀ θÛ¾ 
C  Desoldering braid | ÊɠÞɨġÊȎØɰÀ ŤɭÊ 

D  Desoldering pump | ÊɠÞɨġÊȎØɰÀ ÒɰÒ 

 
145   Which soldering instrument has hot air 

blowing facility? | η¾Þ ÞɨġÊȎØɰÀ {ɰĦȩÖʃÈ Öʃ ÀÖx ßÛɟ 
ÔßÑɭ ¾ɥ ÞȓθÛÐɟ ßɮ? 

A  Soldering iron | ÞɨġÊȎØɰÀ z×ØÑ 
B  Soldering station | ÞɨġÊȎØɰÀ ĦÈɭÜÑ 

C  Wave soldering machine | ÛɭÛ ÞɨġÊȎØɰÀ ÖÜɠÑ 

D  Temperature controlled soldering iron | 

ÍɟÒÖɟÑ ȑÑ×ɰȐŝÍ Èɟɰ¾ɟ ÙÀɟÑɭ ÛɟÙɟ Ùɨßɟ 

 
146   What is produced by the power supply 

connected soldering iron? | Èɟɰ¾ɟ ÙÀɟÑɭ ÛɟÙɭ Ùɨßɭ Þɭ 
ȐÔÅÙɡ ¾ɥ zÒȕȑÍx Þɭ Ć×ɟ }ĕÒɟȏÏÍ ßɨÍɟ ßɮ? 

A  Fire | zÀ 

B  Heat | ÀÖɶ 
C  Cool air | ÉɰÊɠ ßÛɟ 

D  Water vapour | ÅÙÛɟĥÒ 
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147   What is the purpose of flux in soldering 

electronic circuit components? | ÞɨġÊȎØɰÀ 

{ÙɭĆŘɦȑÑ¾ Þη¾xÈ ÁÈ¾ʇ Öʃ ŢÛɟß ¾ɟ }ʬÏɭĤ× Ć×ɟ ßɮ? 

A  Form the oxide layer | ¦ĆÞɟ{Ê ÒØÍ ¾ɟ ÀÉÑ 
¾Øʃ 

B  Reduce the solder cooling time | ÞɨġÊȎØɰÀ 

¾ȓεÙɰÀ ÞÖ× ¾Ö ¾Øʃ 

C  Increase the melting temperature of solder | 

ÞɨġÊȎØɰÀ ¾ɭ θÒÁÙÑɭ ¾ɟ ÍɟÒÖɟÑ Ôïɟ¤ɰ 

D  Dissolve the oxide layer on the metal surface 

| ÐɟÍȓ ¾ɥ ÞÍß ÒØ ¦ĆÞɟ{Ê ÒØÍ ÕɰÀ 
 

148   Which gauge number of rosin-cored solder 
is suitable for soldering medium sized joints? | 

ØɨεÞÑπ¾ɨØɭÊ ÞɨġÊØ ¾ɥ ¾ɩÑ Þɠ ÀɭÅ Þɰć×ɟ ÞɨġÊȎØɰÀ 

ÖĘ×Ö z¾ɟØ ¾ɭ Åɨîʇ ¾ɭ εÙ¤ }Ò×ȓĆÍ ßɮ? 

A  16 gauge rosin cored | 16 ÀɭÅ ØɨεÞÑ ¾ɨØÊ 

B  18 gauge rosin cored | 18 ÀɭÅ ØɨεÞÑ ¾ɨØÊ 

C  22 gauge rosin cored | 22 ÀɭÅ ØɨεÞÑ ¾ɨØÊ 

D  24 gauge rosin cored | 24 ÀɭÅ ØɨεÞÑ ¾ɨØÊ 

 
149   How the flux residue is removed after 

soldering a joint? | ¤¾ Åɦ{ɰÈ Èɟɰ¾ɟ ÙÀɟÑɭ ¾ɭ ÔɟÏ 
ěÙĆÞ yÛÜɭÝʇ ¾ɨ ¾ɮÞɭ ßÈɟ×ɟ ÅɟÍɟ ßɮ? 

A  Water | ÒɟÑɠ 

B  Petrol | ÒɭŘɨÙ 

C  Organic flux | ¾ɟÔxȑÑ¾ ŢÛɟß 

D  Isopropyl alcohol | z{ÞɨŢɨθÒÙ ¤ġ¾ɨßɟÙ 

 
150   What is the effect of over heating on 

soldering a joint? | ¤¾ Åɦ{ɰÈ Èɟɰ¾ɟ ÙÀɟÑɭ ÒØ ̈ÛØ 
ßɡȏÈɰÀ ¾ɟ ŢÕɟÛ Ć×ɟ ßɮ? 

A  Cold joint | ¾ɨġÊ Åɦ{ɰÈ 

B  Poor wetting | ÒȓyØ ÛɭȏÈɰÀ 

C  Dull grainy surface | ÊÙ ŐɮÑɠ ÞØÓɭÞ 

D  Flux trapped against lead | ěÙĆÞ ŘɮĚÊ yÀʃĦÈ 
ÙɡÊ 

 

151   What is the name of defect if the flux is 
unable to remove the tarnish from the soldered 

joint? | ÏɨÝ ¾ɟ Ć×ɟ ÑɟÖ ßɮ yÀØ ěÙĆÞ Èɟɰ¾ɟ ÙÀɟÑɭ 

ÛɟÙɭ Åɦ{ɰÈ Þɭ ÐȕεÖÙ ¾ɨ ßÈɟÑɭ Öʃ yÞÖÎx ßɮ? 

A  Cold joint | ¾ɨġÊ Åɦ{ɰÈ 

B  Poor wetting | ÒȓyØ ÛɭȏÈɰÀ 

C  Pits and voids | ÀʪËɭ ©Ø Ûɨ{Ê 

D  Dull gravity surface | ÊÙ ŐɭθÛÈɡ ÞØÓɭÞ 

 
152   What is the result of forced air is blown to 

cool the joint while soldering? | Èɟɰ¾ɟ ÙÀɟÍɭ ÞÖ× 
Åɦ{ɰÈ ¾ɨ ÉɰÊɟ ¾ØÑɭ ¾ɭ εÙ¤ ÓɨĦÊx ßÛɟ ¾ɟ ÒȎØÌɟÖ Ć×ɟ 
ßɨÍɟ ßɮ? 

A  Solder setting very slowly | ÞɨġÊȎØɰÀ ÞɭȏÈɰÀ 

ÔßȓÍ ÐɠØɭπÐɠØɭ 

B  Results in dry brittle joint | Üȓĥ¾ ÕɰÀȓØ Åɦ{ɰÈ Öʃ 
ÒȎØÌɟÖ 

C  Disturbs the chemical bonding | ØɟÞɟ×ȑÑ¾ 

ÔɨȒęÊɰÀ ¾ɨ ιÊĦŘÔ ¾ØÍɟ ßɮ 
D  Joint becomes mechanically stronger | Åɦ{ɰÈ 

Öɭ¾ȑÑ¾Ùɡ ÖÅÔȕÍ ßɨ ÅɟÍɟ ßɮ 
 

153   What is the effect of shaking the soldered 

joint while cooling? | ÉɰÊɟ ¾ØÍɭ ÞÖ× Èɟɰ¾ɟ ÙÀɟÑɭ 

ÛɟÙɭ Åɨî ¾ɨ ȏßÙɟÑɭ ¾ɟ Ć×ɟ ŢÕɟÛ ßɮ? 

A  Flux will not dissolve | ěÙĆÞ ÕɰÀ Ñßɡɰ ßɨÀɟ 

B  It will corrode the joint | ×ß Åɦ{ɰÈ ¾ɨ ÀÙɟ ÏɭÀɟ 

C  It results in oxidation of solder | ×ß ÞɨġÊȎØɰÀ 

¾ɭ ¦ĆÞɠ¾ØÌ ¾ɭ ÒȎØÌɟÖĦÛȼÒ ßɨÍɟ ßɮ 
D  It disturbs the chemical bonding take place | 

×ß ¾ɭεÖ¾Ù ÔɦȒęÊɰÀ ¾ɨ Ùɭ ¾Ø ιÊĦŘÔ ¾ØÍɟ ßɮ 
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154   Why the solvent Iso Propyl Alcohol (IPA) is 

used on the solder joint? | ÞɨġÊØ Åɦ{ɰÈ ÒØ θÛÙɟ×¾ 

Iso Propyl Alcohol (IPA) ¾ɟ }Ò×ɨÀ Ć×ʇ η¾×ɟ ÅɟÍɟ ßɮ? 

A  To help the corrosive action | ÞɰàɟØ¾ ¾ɟØxÛɟ| 

Öʃ ÖÏÏ ¾ØÑɭ ¾ɭ εÙ¤ 
B  Cleaning before soldering the joint | Åɦ{ɰÈ ¾ɨ 
Èɟɰ¾ɟ ÙÀɟÑɭ Þɭ ÒßÙɭ ÞÓɟ| ¾ØÑɟ 

C  To break down the acid within the joint | 

Åɦ{ɰÈ ¾ɭ ÕɠÍØ ¤εÞÊ ¾ɨ ÍɨîÑɭ ¾ɭ εÙ¤ 
D  Remove residual flux and prevent corrosion | 

yÛεÜĥÈ ŢÛɟß ¾ɨ ȑÑ¾ɟÙʃ ©Ø àØÌ ¾ɨ Øɨ¾ʃ 

 
155   What is the defect on the soldered joint, if 

it is cooled by blowing air? | ÞɨġÊØ Åɦ{ɰÈ ÒØ ÏɨÝ 
Ć×ɟ ßɮ, yÀØ {Þɭ ßÛɟ Öʃ }îɟÑɭ Þɭ ÉɰÊɟ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Poor wetting | ÒȓyØ ÛɭȏÈɰÀ 

B  Pits and voids | ÀʪËɭ ©Ø Ûɨ{Ê 

C  Dry solder joint | Þȕ¿ɟ ÞɨġÊȎØɰÀ Åɦ{ɰÈ 

D  Dull grainy surface | ÊÙ ŐɮÑɠ ÞØÓɭÞ 

 
156   How the thick layers of oxide is removed 

before doing the soldering activity? | Èɟɰ¾ɟ ÙÀɟÑɭ ¾ɥ 
ÀȑÍθÛκÐ ¾ØÑɭ Þɭ ÒßÙɭ ¦ĆÞɟ{Ê ¾ɥ ÖɨÈɡ ÒØÍʇ ¾ɨ 
¾ɮÞɭ ßÈɟ×ɟ ÅɟÍɟ ßɮ? 

A  Apply flux | ěÙĆÞ ÙɟÀȕ ¾Øʃ 

B  Clean normally | ÞɟÖɟę× ȼÒ Þɭ ÞɟÓ ¾Øʃ 

C  Use abrasive method | yÒÁÝx¾ θÛκÐ ¾ɟ Ţ×ɨÀ 
¾Øʃ 

D  Use Isopropyl Alcohol | {ÞɨŢɨÓɟ{Ù yġ¾ɨßÙ 
¾ɟ }Ò×ɨÀ ¾Øʃ 

 
157   Which method is used for soldering 

electronic components? | {ÙɭĆŘɦȑÑ¾ ÁÈ¾ʇ ¾ɨ 
ÞɨġÊØ ¾ØÑɭ ¾ɭ εÙ¤ η¾Þ θÛκÐ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ 
ßɮ? 

 
A  Abrasive method | ÁÝxÌ θÛκÐ 

B  Clinched lead method | ȒĆÙɰÃɭÊ ÑɭÍȗĕÛ θÛκÐ 

C  Hard soldering method | ßɟÊx ÞɨġÊȎØɰÀ θÛκÐ 

D  Soldering station method | ÞɨġÊȎØɰÀ ĦÈɭÜÑ 
θÛκÐ 

 
158   Why the plunger desoldering tool needs 

periodical cleaning? | Ć×ʇ ĚÙɰÅØ desoldering ÈȕÙ ¾ɨ 
ÞÖ×πÞÖ× ÒØ ÞÓɟ| ¾ɥ zÛĤ×¾Íɟ ßɨÍɠ ßɮ? 

A  To melt the solder quickly | ÞɨġÊȎØɰÀ ¾ɨ ÅġÏɡ 
Þɭ θÒÁÙɟÑɭ ¾ɭ εÙ¤ 
B  To help the joint to be soldered | Åɦ{ɰÈ ¾ɨ 
ÞɨġÊȎØɰÀ ¾ØÑɭ Öʃ ÖÏÏ ¾ØÑɭ ¾ɭ εÙ¤ 
C  To prevent clogging of the nozzle | ÑɨÅÙ ¾ɭ 
ĆÙɨȒĈÀɰÀ ¾ɨ Øɨ¾Ñɭ ¾ɭ εÙ¤ 
D  To remove the flux collected in chamber | 

ÃɮĞÔØ Öʃ ¤¾ŝ ŢÛɟß ¾ɨ ßÈɟÑɭ ¾ɭ εÙ¤ 
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159   What is the type of transformer? | 

ŘɟɰÞÓɟÖxØ ¾ɟ Ţ¾ɟØ Ć×ɟ ßɮ? 

 
A  Isolation transformer | z{ÞɨÙɭÜÑ ŘɟɰÞÓɦÖxØ 

B  Single phase transformer | εÞɰÀÙ ÓɭÅ 
ŘɟɰÞÓɟÖxØ 

C  Low frequency transformer | Ùɨ ţɥĆÛʃÞɠ 

ŘɟɰÞÓɟÖxØ 

D  High frequency transformer | ßɟ| ţɥĆÛʃÞɠ 

ŘɟɰÞÓɟÖxØ 

 
160   How power rating is specified for 

transformers? | ŘɟɰÞÓɟÖxØ ¾ɭ εÙ¤ ÒɟÛØ ØɭȏÈɰÀ ¾ɮÞɭ 
ȑÑȏÏxĥÈ ¾ɥ ÅɟÍɠ ßɮ? 

A  Watts (W) | ÛɟÈÞ όW) 

B  Voltage (V) | ÛɨġÈɭÅ όV) 

C  Volt ampere (VA) | ÛɨġÈ ¤ĞÒɠ×Ø όÛɠ¤ύ 
D  Horse power (HP) | ßɦÞx ÒɦÛØ όHP) 

 
161   Which component opposes any change in 

current? | ¾ɩÑ Þɟ ÁÈ¾ ¾ØɰÈ Öʃ η¾Þɠ Õɠ ÒȎØÛÍxÑ ¾ɟ 
θÛØɨÐ ¾ØÍɟ ßɮ? 

A  Diode | Êɟ×ɨÊ 

B  Resistor | ØȒÅĦÈØ 

C  Inductor | {ɰÊĆÈØ 

D  Capacitor | ¾ɮÒɟεÞÈØ 

 
162   What is the unit of inductance? | {ɰÊĆÜÑ 

¾ɥ {¾ɟ| Ć×ɟ ßɮ? 

A  Joule | ÅɩÙ 
B  Farad | ÓɮØÊ 

C  Henry | ßɭÑØɡ 

D  Watts | ÛɟÈÞ 

 
163   Which value is equal to one picofarad? | 

¾ɩÑ Þɟ Öȕġ× ¤¾ θÒ¾ɨÓɮØɟÊ ¾ɭ ÔØɟÔØ ßɮ? 

A  106 Farad | 106 ÓØɟÊ 

B  1012 Farad | 1012 ÓØɟÊ 

C  10-6 Farad | 10-6 ÓØɟÊ 

D  10-12 Farad | 10-12 ÓØɟÊ 

 
164   Which factor determines the inductance 

value? | ¾ɩÑ Þɟ ¾ɟØ¾ {ęÊ¾ÈɭęÞ ȑÑÐɟxȎØÍ ¾ØÍɟ ßɮ? 

A  Material of the coil | ĆÛɟ{Ù ¾ɥ ÞɟÖŐɠ 

B  Diameter of the coil | ĆÛɟ{Ù ¾ɟ ģ×ɟÞ 

C  Frequency of the current | ¾ØɰÈ ¾ɥ zÛȗθǡ 

D  Current flow through the coil | ¾ɦ{Ù ¾ɭ 
ÖɟĘ×Ö Þɭ ¾ØɰÈ ŢÛɟß 

 
165   What is the name of the type of resistor? | 

ØȒÅĦÈØ ¾ɭ Ţ¾ɟØ ¾ɟ ÑɟÖ Ć×ɟ ßɮ? 

 
A  Carbon type variable | ¾ɟÔxÑ Ţ¾ɟØ ÃØ 
B  Fixed low wattage type | ηÓĆĦÊ Ùɨ ÛɦÈɭÅ 

Èɟ{Ò 

C  High wattage fixed type | }ċÃ ÛɟÈ àÖÍɟ 
ȑÑȒĤÃÍ Ţ¾ɟØ 

D  Wire wound type variable | Ûɟ×Ø ÁɟÛ Ţ¾ɟØ 
ÃØ 
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166   What is the colour code for 100W resistor? 

| 100W ØȒÅĦÈØ ¾ɭ εÙ¤ ØɰÀ ¾ɨÊ Ć×ɟ ßɮ? 

A  Brown, black, red | ÕȕØɟ, ¾ɟÙɟ, ÙɟÙ 
B  Black, brown, black | ¾ɟÙɟ, ÕȕØɟ, ¾ɟÙɟ 

C  Brown, black, brown | ÕȕØɟ, ¾ɟÙɟ, ÕȕØɟ 
D  Brown, brown, brown | ÕȕØɟ, ÕȕØɟ, ÕȕØɟ 

 
167   How many ohms is equal to one Mega 

ohm? | ¤¾ ̈Ö ¾ɭ ÔØɟÔØ η¾ÍÑɭ ̈Ö ßʅ? 

A  10 kW  
B  100 kW  
C  1000 kW  
D  2000 kW  

 
168   Determine the current flows through 2kW 

resistor (R2). | 2kW ØȒÅĦÈØ όR2) ¾ɭ ÖɟĘ×Ö Þɭ ¾ØɰÈ 
ŢÛɟß ¾ɟ ȑÑÐɟxØÌ ¾Øʃ] 

 
A  5 mA | 5 ¤Ö¤ 
B  6 mA | 6 ¤Ö¤ 
C  7 mA | 7 ¤Ö¤ 
D  8 mA | 8 ¤Ö¤ 

 
169   Which property of the capacitor stores 

electrical energy in electrostatic field? | ¾ɮÒɟεÞÈØ 

¾ɥ ¾ɩÑ Þɠ ÞɰÒθǡ {ÙɭĆŘɨĦÈɮȏÈ¾ àɭŝ Öʃ θÛʬ×ȓÍ ~Åɟx 
ÞɰŐßɡÍ ¾ØÍɠ ßɮ? 

A  Dielectric | Ëɟɰ¾Íɟ ßȓz 

B  Capacitance | ÞÖɟ| 

C  Stray capacitance | zÛɟØɟ ÞÖɟ| 

D  Capacitive reactance | ¾ɮÒɭεÞȏÈÛ ȎØ¤ĆÜÑ 

 
170   Which unit is used to measure capacitance 

value? | ¾ɮÒɭεÞÈʃÞ ÖɟÑ ¾ɨ ÖɟÒÑɭ ¾ɭ εÙ¤ η¾Þ {¾ɟ| 
¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Mho | Ğßɨ 

B  Ohm | ̈ Ö 

C  Farad | ÓɮØÊ 

D  Henry | ßɭÑØɡ 

 
171   What is the name of the coil? | ĆÛɟ{Ù ¾ɟ 
ÑɟÖ Ć×ɟ ßɮ? 

 
A  Iron core choke | z×ØÑ ¾ɨØ Ãɨ¾ 
B  Aire core choke | ¥×Ø ¾ɨØ Ãɨ¾ 
C  Low frequency inductors | Ùɨ ţɥĆÛʃÞɠ 

{ɰιÊ¾ɭÈÞx 

D  High frequency inductors | ßɟ| ţɥĆÛʃÞɠ 

{ɰιÊ¾ɭÈÞx 

 
172   What is the name of Multi-turn 

potentiometers? | ÖġÈɡπÈÑx ÒɨÈʃεÜ×ɨÖɠÈØ ¾ɟ ÑɟÖ 
Ć×ɟ ßɮ? 

A  Multi turn dual pots | ÖġÈɡ ÈÑx ÊȓyÙ ÒɦʨÞ 

B  Multi turn trim pots | ÖġÈɡ ŘɡÖ ȏŘÖ ÒɦʨÞ 

C  Single turn trim pots | εÞɰÀÙ ŘɡÖ ȏŘÖ ÒɦʨÞ 

D  Single turn dual pots | εÞɰÀÙ ÈÑx ʪ×ȕÙ ÒɦʨÞ 
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173   What is the purpose of the electronic 

component used in radio receiver? | ØɭιÊ×ɨ ȎØÞɠÛØ 

Öʃ Ţ×ȓĆÍ {ÙɭĆŘɦȑÑ¾ ÁÈ¾ ¾ɟ }ʬÏɭĤ× Ć×ɟ ßɮ? 

 
A  Demodulator | ιÊÖɦʪ×ȓÙɭÈØ 
B  Tuning circuit | ʨ×ȕȑÑɰÀ Þη¾xÈ 

C  Audio amplification | ¦ιÊ×ɨ ¤ĞÒÙɡηÓ¾ɭÞÑ 

D  Automatic gain control | zÈɨÖɭȏÈ¾ ÀɭÑ 
¾ĔŘɨÙ 

 
174   What is the name of the triangle used in 

resistor, inductor in AC circuit? | ¤Þɠ Þη¾xÈ Öʃ 
yÛØɨÐ¾, ŢɟØɰÕ ¾ØÑɭÛɟÙɟ Öʃ Ţ×ȓĆÍ Řɟ×ɰÀÙ ¾ɟ ÑɟÖ 
Ć×ɟ ßɮ? 

 
A  Power triangle | ȐÔÅÙɡ Řɟ×ɰÀÙ 

B  Voltage triangle | ÛɨġÈɭÅ Řɟ×ɰÀÙ 

C  Current triangle | ¾ØɰÈ Řɟ×ɰÀÙ 

D  Impedance triangle | ŢȑÍÔɟÐɟ Řɟ×ɰÀÙ 

 
175   Which meter is used to find the exact 

resistance value of resistors? | ŢȑÍØɨÐʇ ¾ɟ ÞÈɡ¾ 
ŢȑÍØɨÐ ÖɟÑ áɟÍ ¾ØÑɭ ¾ɭ εÙ¤ η¾Þ ÖɠÈØ ¾ɟ }Ò×ɨÀ 
η¾×ɟ ÅɟÍɟ ßɮ? 

A  Ammeter | ¤ȒĞÖÈØ 

B  Volt meter | ÛɨġÈ ÖɠÈØ 

C  Ohm meter | ̈ Ö ÖɠÈØ 

D  Watt meter | ÛɟÈ ÖɠÈØ 

 
176   How much is the impedance of the circuit? 

| Þη¾xÈ ¾ɟ {ȒĞÒîʃÞ η¾ÍÑɟ ßɮ? 

 
A  20 W  
B  30 W  
C  40 W  
D  50 W  

 
177   What is the cause of burnt relay contacts? 

| ÔÑx ȎØÙɭ ¾ɦęÈɭĆʨÞ ¾ɟ ¾ɟØÌ Ć×ɟ ßɮ? 

A  Low contact current | Ùɨ ¾ɟɰÈɭĆÈ ¾ØʃÈ 

B  Excessive contact current | ¤ĆĦÞȒĦÞÛ 

¾ɟɰÈɭĆÈ ¾ØʃÈ 

C  Chatter during a slow release | ÐɠÖɠ ÀȑÍ Þɭ 
ÅɟØɡ ¾ØÑɭ ¾ɭ ÏɩØɟÑ 

D  Excessive number of operations | ÞɰÃɟÙÑ ¾ɥ 
yĕ×κÐ¾ Þɰć×ɟ 

 
178   At which condition the cold resistance of 
the low voltage lamp is measured using ohmmeter? 

| ¨ħÖÖɠÈØ ¾ɟ }Ò×ɨÀ ¾Ø¾ɭ ¾Ö ÛɨġÈɭÅ ÙʅÒ ¾ɭ ÉɰÊ 
ŢȑÍØɨÐ ¾ɨ η¾Þ ȒĦÎȑÍ Öʃ ÖɟÒɟ ÅɟÍɟ ßɮ? 

A  Lamp is ON at 100°C | ÙʅÒ 100 ιÊŐɠ ÞɭȒġÞ×Þ 

ÒØ ÃɟÙȕ ßɮ 
B  Lamp is ON at 320°C | ÙʅÒ 320 ° C ÒØ ßɮ 
C  Lamp is ON at 400°C | ÙʅÒ 400 ° C ÒØ ÃɟÙȕ ßɮ 
D  Lamp is OFF at room temperature | ÙʅÒ ¾ÖØɭ 
¾ɭ ÍɟÒÖɟÑ ÒØ ÔɰÏ ßɮ 
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179   What is the result of hysteresis loss in 

magnetic material? | ÃȓɰÔ¾ɥ× ÞɟÖŐɠ Öʃ ȏßĦÈɮȎØÞɠÞ 

ßɟȑÑ ¾ɟ ÒȎØÌɟÖ Ć×ɟ ßɮ? 

A  Back emf increases | Ôɮ¾ |¤Ö¤Ó ÔïÍɟ ßɮ 
B  Eddy current decreases | ¤îɠ ¾ØɰÈ ¾Ö ßɨ ÅɟÍɟ 
ßɮ 
C  Magnetic flux increases | ÃȓɰÔ¾ɥ× ŢÛɟß Ôï 
ÅɟÍɟ ßɮ 
D  Energy loss takes place | ~Åɟx ¾ɥ ßɟȑÑ ßɨÍɠ ßɮ 

 
180   What is the phase relationship between 
the applied voltage and current in the primary of a 

transformer with open secondary winding? | ¿ȓÙɭ 
ÖɟĘ×εÖ¾ ÁȓÖɟÛÏɟØ ¾ɭ ÞɟÎ ŘɟɰÞÓɟÖxØ ¾ɭ ŢɟÎεÖ¾ Öʃ 
ÙɟÀȕ ÛɨġÈɭÅ ©Ø ¾ØɰÈ ¾ɭ ÔɠÃ ÃØÌ ÞɰÔɰÐ Ć×ɟ ßɮ? 

A  Voltage lags current by 45° | ÛɨġÈɭÅ 45 ιÊŐɠ 
Þɭ ÃɟÙȕ ßɨÍɟ ßɮ 
B  Current lags voltage by 90° | 90 ιÊŐɠ Þɭ ¾ØɰÈ 
ÛɨġÈɭÅ 

C  Voltage leads current by 45° | ÛɨġÈɭÅ 45 ° Þɭ 
¾ØɰÈ Ùɭ ÅɟÍɟ ßɮ 
D  Current leads voltage by 90° | ¾ØɰÈ Öʃ 90 ° Þɭ 
ÛɨġÈɭÅ zÍɟ ßɮ 

 
181   What is the value of carbon composition 

resistor? | ¾ɟÔxÑ ¾ĞÒɨÅɠÜÑ ØȒÅĦÈØ ¾ɟ Öȕġ× Ć×ɟ 
ßɮ? 

 
A  2200 W  
B  3300 W  
C  3900 W  
D  4700 W  

 
182   What is the voltage (V2) drop across the 

resistor R2? | ØȒÅĦÈØ zØ 2 ÕØ Öʃ ÛɨġÈɭÅ όV2) ŚɦÒ 
Ć×ɟ ßɮ? 

 
A  V2 = 20V | Ûɠ 2 = 20 Ûɠ 
B  V2 = 40V | Ûɠ 2 = 40 Ûɠ 
C  V2 = 60V | Ûɠ 2 = 60 Ûɠ 
D  V2 = 80V | Ûɠ 2 = 80 Ûɠ 

 
183   What is the purpose of trimmer capacitor? 

| ȏŘÖØ ¾ɮÒɟεÞÈØ ¾ɟ }ʬÏɭĤ× Ć×ɟ ßɮ? 

A  Coupling | ¾ÒεÙɰÀ 

B  Filtering | η÷ġÈȎØɰÀ 

C  Decoupling | Ïɡ¾ɟȒĚÙɰÀ 

D  Fine tuning | ÷ɟ{Ñ ʨ×ȕȑÑɰÀ 

 
184   Find the total resistance value of 10 ohms 

and 20 ohms connected in parallel. | ÞÖɟÑɟɰÍØ Öʃ 
Åȓîɭ 10 ̈ Ö ©Ø 20 ̈ Ö ¾ɟ ¾ȓÙ ŢȑÍØɨÐ ÖɟÑ áɟÍ 
¾ɥȒÅ¤] 

A  6.666 Ohms | 6.666 ̈ßÖ 
B  66.66 Ohms | 66.66 ̈ßÖ 
C  666.6 Ohms | 666.6 ̈ßÖ 
D  6666 Ohms | 6666 ̈ ßÖ 

 
185   Find the total inductance value of two 
inductors 10H and 15H of connected in series. | 

Ŭȗɰ¿Ùɟ Öʃ Åȓîɭ Ïɨ ŢɭØ¾ 10H ©Ø 15H ¾ɭ ¾ȓÙ yκÐĥÉɟÒÑ 

Öȕġ× ¾ɟ ÒÍɟ ÙÀɟ¤ɰ] 

A  05 H | 05 ¤Ã 
B  10 H | 10 ¤Ã 
C  15 H | 15 ¤Ã 
D  25 H | 25 ¤Ã 
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186   What is the power dissipated if 10mA 

current flows through a 10KW resistor? | ×ȏÏ 10mA 

yÛØɨÐ¾ ¾ɭ ÖɟĘ×Ö Þɭ 10mA ¾ØɰÈ ŢÛɟȏßÍ ßɨÍɟ ßɮ, Íɨ 
η¾Þ ÜȒĆÍ ¾ɟ ŢÞɟØ ßɨÍɟ ßɮ? 

A  1000 milli watts | 1000 εÖÙɡ ÛɟÈ 
B  2000 milli watts | 2000 εÖÙɡ ÛɟÈ 
C  3000 milli watts | 3000 εÖÙɡ ÛɟÈ 
D  4000 milli watts | 4000 εÖÙɡ ÛɟÈ 

 
187   Find the current (I3) using Kirchhoff s 

current law? | η¾ØÃɦÓ ¾ɭ ¾ØɰÈ ¾ɟÑȕÑ ¾ɟ }Ò×ɨÀ 
¾Ø¾ɭ ¾ØɰÈ όI3) ¾ɟ ÒÍɟ ÙÀɟ¤ɰ? 

 
A  3A | 3 ¤ 
B  4A | 4 ¤ 
C  5A | 5 ¤ 
D  6A | 6A 

 
188   What is the name of effect of changing 
current in one coil, induces EMF in nearby coil? | 

¤¾ ¾ɦ{Ù Öʃ ¾ØɰÈ ÔÏÙÑɭ ¾ɭ ŢÕɟÛ ¾ɟ Ć×ɟ ÑɟÖ ßɮ, ÒɟÞ 
¾ɭ ¾ɦ{Ù Öʃ EMF ¾ɨ ŢɭȎØÍ ¾ØÍɟ ßɮ? 

A  Coupling | ¾ÒεÙɰÀ 

B  Induction | {ɰÊĆÜÑ 

C  Self induction | ÞɭġÓ {ɰÊĆÜÑ 

D  Mutual induction | Ğ×ȕċ×ȕyÙ {ɰÊĆÜÑ 

 
189   What is the main problem caused for 

severe pitting in relays? | ȎØÙɭ Öʃ θÒȏÈɰÀ ßɨÑɭ ¾ɭ ¾ɟØÌ 
Öȓć× ÞÖĦ×ɟ Ć×ɟ ßɮ? 

A  Low contact current | Ùɨ ¾ɟɰÈɭĆÈ ¾ØʃÈ 

B  Excessive contact current | ¤ĆÞɭÞȒĦÞÛ 

¾ɟɰÈɭĆÈ ¾ØɰÈ 

C  Chatter during a slow release | ÐɠÖɠ ÀȑÍ Þɭ 

ÅɟØɡ ¾ØÑɭ ¾ɭ ÏɩØɟÑ 

D  Excessive number of operations | ÞɰÃɟÙÑ ¾ɥ 
yĕ×κÐ¾ Þɰć×ɟ 

 
190   What is the effect on the transformer 

operated below the rated voltage? | ØɭÈɭÊ ÛɨġÈɭÅ ¾ɭ 
ÑɠÃɭ ÞɰÃɟεÙÍ ŘɟɰÞÓɟÖxØ ÒØ Ć×ɟ ŢÕɟÛ ÒîÍɟ ßɮ? 

A  Burn out windings | ÔÑx z}È θÛȒęÏɰĈÞ ßɨÍɟ ßɮ 
B  Leads to interwinding leakage | {ɰÈØ θÛȒęÏɰĈÞ 

Ùɡ¾ɭÅ ßɨÍɟ ßɮ 
C  Transformer heated up excessively | ŘɟɰÞÓɟÖxØ 

yĕ×κÐ¾ ÀÖx ßɨ À×ɟ 
D  Delivers reduced secondary voltage | ÏɭØɡ Þɭ 
ÖɟĘ×εÖ¾ ÛɨġÈɭÅ ¾Ö ßȓ| 

 
191   What is the purpose of vacuum contactors 

in electrical panel? | θÛʬ×ȓÍ ÒɮÑÙ Öʃ ÛɮĆ×ȕÖ 
¾ɦęÈɮĆÈÞx ¾ɟ }ʬÏɭĤ× Ć×ɟ ßɮ? 

A  Fast switching | ÍɭÅɠ Þɭ ȒĦÛκÃɰÀ 

B  Slow switching | ÐɠÖɠ ÀȑÍ Þɭ ȒĦÛκÃɰÀ 

C  Packet switching | Òɮ¾ɭÈ ȒĦÛκÃɰÀ 

D  Medium switching | ÖĘ×Ö ȒĦÛκÃɰÀ 

 
192   What is the reason for the use of 

contactors in control circuits? | ¾ɰŘɨÙ Þη¾xÈ Öʃ 
contactors ¾ɭ }Ò×ɨÀ ¾ɟ ¾ɟØÌ Ć×ɟ ßɮ? 

A  Supply power to loads | ÙɨÊ ¾ØÑɭ ¾ɭ εÙ¤ 
ȐÔÅÙɡ ¾ɥ zÒȕȑÍx 
B  To increase load current | ÙɨÊ ¾ØɰÈ ÔïɟÑɭ ¾ɭ 
εÙ¤ 
C  To decrease load current | ÙɨÊ ¾ØɰÈ ¾Ö ¾ØÑɭ 
¾ɭ εÙ¤ 
D  To protect the load from arcing | ÙɨÊ ¾ɨ 
arcing Þɭ ÔÃɟÑɭ ¾ɭ εÙ¤ 
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193   Why the transformer core is made as thin 

laminations? | ŘɟɰÞÓɟÖxØ ¾ɨØ ¾ɨ ÒÍÙɭ Èȓ¾îɭ ¾ɭ ȼÒ Öʃ 
Ć×ʇ ÔÑɟ×ɟ ÅɟÍɟ ßɮ? 

A  To minimize eddy current losses | ¤ʪÊɠ ¾ØɰÈ 
Ñȓ¾ÞɟÑ ¾ɨ ¾Ö ¾ØÑɭ ¾ɭ εÙ¤ 
B  To increase the hysteresis losses | ȏßĦÈɡȎØÞ ¾ɭ 
Ñȓ¾ÞɟÑ ¾ɨ ÔïɟÑɭ ¾ɭ εÙ¤ 
C  To maximize eddy current losses | yκÐ¾ÍÖ 
¾ØɰÈ Ñȓ¾ÞɟÑ ¾ɭ εÙ¤ 
D  To increase core saturation losses | ¾ɨØ 
ÞɰÍȗȒĚÍ ÙɨĦÞɭÞ ¾ɨ ÔïɟÑɭ ¾ɭ εÙ¤ 

 
194   Which part of the relay causes most 

trouble? | ȎØÙɭ ¾ɟ ¾ɩÑ Þɟ ȏßĦÞɟ ÞÔÞɭ yκÐ¾ 
ÒØɭÜɟÑɠ ¾ɟ ¾ɟØÌ ÔÑÍɟ ßɮ? 

A  Hinges | ȏßęÀɭÞ 

B  Relay coil | ȎØÙɭ ĆÛɟ{Ù 

C  Relay contacts | ȎØÙɭ ¾ɦęÈɭĆʨÞ 

D  Frame and core | ţɭÖ ©Ø ¾ɨØ 
 

195   What type of ripple filter circuit is used for 

large load current requirements? | Ôîɭ ÙɨÊ ¾ØɰÈ 
zÛĤ×¾Íɟ¨ɰ ¾ɭ εÙ¤ η¾Þ Ţ¾ɟØ ¾ɭ ȎØÒÙ ηÓġÈØ 
Þη¾xÈ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  LC filter | ȑÑ×ɰŝÌ Øɭ¿ɟ η÷ġÈØ 

B  RC filter | zØÞɠ ηÓġÈØ 

C  Inductor Input filter | {ɰÊĆÈØ {ÑÒȓÈ η÷ġÈØ 

D  Capacitor Input filter | ¾ɮÒɟεÞÈØ {ÑÒȓÈ η÷ġÈØ 
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196   What is the current through the zener 

diode with full load condition? | ÒȕÌx ÙɨÊ ¾ɥ ȒĦÎȑÍ 
¾ɭ ÞɟÎ ÅɭÑØ Êɟ×ɨÊ ¾ɭ ÖɟĘ×Ö Þɭ ¾ØɰÈ Ć×ɟ ßɮ? 

 
A  Zero | Üȕę× 

B  Minimum | ę×ȕÑÍÖ 

C  Maximum | č×ɟÏɟ Þɭ č×ɟÏɟ 

D  Remains constant | ȒĦÎØ ØßÍɟ ßɮ 
 

197   Which circuit produces the ripple 

waveform? | ¾ɩÑ Þɟ Þη¾xÈ ȎØĚÒÙ ÛɭÛ ÓɦÖx ¾ɟ 
}ĕÒɟÏÑ ¾ØÍɟ ßɮ? 

 
A  Amplifier circuit | ¤ĞÒÙɡÓɟ×Ø Þη¾xÈ 

B  Regulator circuit | ØɭÀȓÙɭÈØ Þη¾xÈ 

C  Oscillator circuit | ¦Ħ¾ɥÙɭÈØ Þη¾xÈ 

D  Filter circuit | ηÓġÈØ Þη¾xÈ 

 
198   Which component filter the ripples in the 

rectifier circuit? | ØɭȒĆÈÓɟ×Ø Þη¾xÈ Öʃ ȎØÒÙ ¾ɨ ¾ɩÑ 
Þɟ ÁÈ¾ ηÓġÈØ ¾ØÍɟ ßɮ? 

A  DIAC | Êɠz|¤Þɠ 

B  Diode | Êɟ×ɨÊ 

C  TRIAC | Řɟ|¾ 

D  Capacitor | ¾ɮÒɟεÞÈØ 

 
199   Which parameter is maintained constant in 

zener diode? | ÅɭÑØ Êɟ×ɨÊ Öʃ ¾ɩÑ Þɟ ÒɮØɟÖɠÈØ 

¾ɰεÞĦÈʃÈ ÔÑɟ ßȓz ßɮ? 

A  Power | ÒɦÛØ 

B  Current | ¾ØɰÈ 

C  Voltage | ÛɨġÈɭÅ 

D  Resistance | ŢȑÍØɨÐ 

 
200   What is the meaning of maximum safe 

reverse voltage across a diode? | Êɟ×ɨÊ Öʃ yκÐ¾ÍÖ 
ÞȓØνàÍ ȎØÛÞx ÛɨġÈɭÅ ¾ɟ Ć×ɟ yÎx ßɮ? 

A  PIV voltage | PIV ÛɨġÈɭÅ 

B  Knee voltage | Ñɠ ÛɨġÈɭÅ 

C  Break down voltage | Ťɭ¾ Êɟ}Ñ ÛɨġÈɭÅ 

D  Reverse break down voltage | ȎØÛÞx Ťɭ¾ Êɟ}Ñ 
ÛɨġÈɭÅ_x000D_ 

 
201   What is the name of the circuit diagram? | 

Þη¾xÈ zØɭ¿ ¾ɟ ÑɟÖ Ć×ɟ ßɮ? 

 
A  Bridge rectifier | ȐŤÅ ØɭĆÈɡÓɟ×Ø 

B  Amplifier circuit | ¤ĞÒÙɡÓɟ×Ø Þη¾xÈ 

C  Regulator circuit | ØɭÀȓÙɭÈØ Þη¾xÈ 

D  Modulator circuit | ÖɨÊȕÙɭÈØ Þη¾xÈ 
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202   When does the zener diode begins to 

conduct in the reverse biased condition? | ÅÔ ÅɭÑØ 
Êɟ×ɨÊ ȎØÛÞx Ôɟ×ĦÊ ȒĦÎȑÍ Öʃ zÃØÌ ¾ØÑɟ Üȓȼ ¾ØÍɟ 
ßɮ? 

A  When bias voltage reached 0.7V | ÅÔ ÒȕÛɟxŐß 
ÛɨġÈɭÅ 0.7V Í¾ ÒßȓɰÃ À×ɟ 
B  After the barrier voltage cancelled | ÔɮȎØ×Ø 

ÛɨġÈɭÅ ØʬÏ ßɨÑɭ ¾ɭ ÔɟÏ 
C  Voltage across zener reached 0.3V | ÅɭÑØ ÕØ 
Öʃ ÛɨġÈɭÅ 0.3V ÒØ ÒßȓɰÃ À×ɟ 
D  Voltage across it reached the zener voltage | 

×ß ÕØ Öʃ ÛɨġÈɭÅ ÅɭÑØ ÛɨġÈɭÅ Í¾ ÒßȓɰÃ À×ɟ 
 

203   What is the current through the zener 

diode under no load condition? | ¾ɨ| ÙɨÊ ȒĦÎȑÍ ¾ɭ 
ÍßÍ ÅɭÑØ Êɟ×ɨÊ ¾ɭ ÖɟĘ×Ö Þɭ ¾ØɰÈ Ć×ɟ ßɮ? 

 
A  Zero | Üȕę× 

B  Minimum | ę×ȕÑÍÖ 

C  Maximum | č×ɟÏɟ Þɭ č×ɟÏɟ 

D  Remains constant | ȒĦÎØ ØßÍɟ ßɮ 
 

204   What is the output pulse frequency of the 
full wave rectifier with input frequency of 50 Hz? | 

50 ßʨxÅ ¾ɥ {ÑÒȓÈ zÛȗθǡ ¾ɭ ÞɟÎ ÒȕÌx ÙßØ ÜȓʬÐ 
¾ØÑɭÛɟÙɟ ¾ɥ z}ÈÒȓÈ ÒġÞ zÛȗθǡ Ć×ɟ ßɮ? 

A  40 Hz | 40 ßʨxÅ 

B  60 Hz | 60 ßʨxÅ 

C  100 Hz | 100 ßʨxÅ 

D  200 Hz | 200 ßʨxÅ 

 
205   What is the maximum safe reverse voltage 

rating of a diode? | Êɟ×ɨÊ ¾ɟ yκÐ¾ÍÖ ÞȓØνàÍ 
ȎØÛÞx ÛɨġÈɭÅ ØɭȏÈɰÀ Ć×ɟ ßɮ? 

A  PIV voltage | PIV ÛɨġÈɭÅ 

B  Knee voltage | Ñɠ ÛɨġÈɭÅ 

C  Break down voltage | Ťɭ¾ Êɟ}Ñ ÛɨġÈɭÅ 

D  Forward break down voltage | ÓɦØÛÊx Ťɭ¾ 
Êɟ}Ñ ÛɨġÈɭÅ_x000D_ 

 
206   Which is the first step followed in 

troubleshooting of electronic circuit? | {ÙɭĆŘɦȑÑ¾ 

Þη¾xÈ ¾ɥ ÞÖĦ×ɟ ȑÑÛɟØÌ Öʃ ÒßÙɟ ¾ÏÖ ¾ɩÑ Þɟ ßɮ? 

A  Thermal test | ÎÖxÙ ÒØɡàÌ 

B  Chemical test | ØɟÞɟ×ȑÑ¾ ÒØɡàÌ 

C  Mechanical test | ×ɟɰȐŝ¾ ÒØɡàÌ 

D  Physical and sensory test | ÜɟØɡȎØ¾ ©Ø ÞɰÛɭÏɡ 

ÒØɡàÌ 

 
207   Which diode is used in low power 

communication circuits? | ¾Ö ȐÔÅÙɡ ÞɰÃɟØ Þη¾xÈ Öʃ 
η¾Þ Êɟ×ɨÊ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Signal diodes | εÞĈÑÙ Êɟ×ɨÊ 

B  Rectifier diodes | ØɭȒĆÈÓɟ×Ø Êɟ×ɨÊ 

C  Switching diodes | ȒĦÛκÃɰÀ Êɟ×ɨÊ 

D  High power diodes | ßɟ| ÒɟÛØ Êɟ×ɨÊ 

 
208   What is the disadvantage of the two diode 
full wave rectifier compared with a bridge rectifier? 

| ȐŤÅ ØɭȒĆÈÓɟ×Ø ¾ɥ ÍȓÙÑɟ Öʃ Ïɨ Êɟ×ɨÊ ÓȓÙ ÛɭÛ 
ØɭȒĆÈÓɟ×Ø ¾ɟ Ñȓ¾ÞɟÑ Ć×ɟ ßɮ? 

A  DC output level is higher | ÊɠÞɠ }ĕÒɟÏÑ ĦÍØ 
yκÐ¾ ßɮ 
B  The ripple frequency is higher | ÍØɰÀ zÛȗθǡ 
yκÐ¾ ßɨÍɠ ßɮ 
C  The need of bulky transformer | Ôġ¾ɥ 
ŘɟɰÞÓɟÖxØ ¾ɥ ÅȼØÍ ßɮ 
D  Each diode carries half the load current | 

Ţĕ×ɭ¾ Êɟ×ɨÊ ¾ØɰÈ ÙɨÊ ¾ɟ zÐɟ ÛßÑ ¾ØÍɟ ßɮ 
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209   What is the process of adding impurities to 

a pure semi conductor material? | ÜȓʬÐ yÐx ÃɟÙ¾ 
ÞɟÖŐɠ Öʃ yÜȓʬκÐ×ʇ ¾ɨ ÅɨîÑɭ ¾ɥ ŢηŎ×ɟ Ć×ɟ ßɮ? 

A  Doping | ÊɨθÒɰÀ 

B  Etching | ¤κÃɰÀ 

C  Forming | ÓɨεÖʋÀ 

D  Diffusion | Êɠě×ȕÅÑ 
 

210   How much is the regulated output voltage? 

| θÛȑÑ×εÖÍ z}ÈÒȓÈ ÛɨġÈɭÅ η¾ÍÑɟ ßɮ? 

 
A   6 Volts |   6 ÛɨġÈ 

B  12 Volts | 12 ÛɨġÈ 

C  18 Volts | 18 ÛɨġÈ 

D  22 Volts | 22 ÛɨġÈ 

 
211   Which impurity is added to form P - type 

semiconductor material? | Òɠ π Ţ¾ɟØ yÐxÃɟÙ¾ 

ÞɟÖŐɠ ÔÑɟÑɭ ¾ɭ εÙ¤ ¾ɩÑ Þɠ yÜȓʬÐÍɟ Åɨîɠ ÅɟÍɠ ßɮ? 

A  Arsenic | zÞɴȑÑ¾ 

B  Gallium | ÀɮεÙ×Ö 

C  Antimony | ¤ɰÈɡÖÑɠ 

D  Phosphorus | ÓɟĦÓɨØÞ 

 
212   Which impurity is added to pure 
semiconductor to form N-type material? | 

semiconductor ¤ÑπÈɟ{Ò ÞɟÖŐɠ ÔÑɟÑɭ ¾ɭ εÙ¤ ÜȓʬÐ 
yÐxÃɟÙ¾ Öʃ ¾ɩÑ Þɠ yÜȓʬÐÍɟ Åɨîɠ ÅɟÍɠ ßɮ? 

A  Boron | ÔɨØɟÑ 

B  Indium | |ĔÊɠ×ȓÖ 

C  Arsenic | zÞɴȑÑ¾ 

D  Gallium | ÀɮεÙ×Ö 

 
213   What is the output frequency of the 

pulsating DC in a two diode fullwave rectifier? | Ïɨ 

Êɟ×ɨÊ ÓȓÙÛɭÛ ØɭȒĆÈÓɟ×Ø Öʃ ĦÒɰȏÏÍ ÊɠÞɠ ¾ɥ z}ÈÒȓÈ 
zÛȗθǡ Ć×ɟ ßɮ? 

A  Half of the input A/C frequency | {ÑÒȓÈ ¤ κ Þɠ 
zÛȗθǡ ¾ɟ zÐɟ 
B  Double the input A/C frequency | {ÑÒȓÈ ¤ κ Þɠ 
zÛȗθǡ ¾ɨ ÏɨÀȓÑɟ ¾Øʃ 

C  Same frequency of the A/C input | ¤ κ Þɠ 
{ÑÒȓÈ ¾ɥ ÞÖɟÑ zÛȗθǡ 

D  Three times the input A/C frequency | ÍɠÑ 
ÔɟØ {ÑÒȓÈ ¤ κ Þɠ zÛȗθǡ 

 
214   What is the name of the process of 

converting AC into DC voltage? | AC ¾ɨ DC ÛɨġÈɭÅ Öʃ 
ÒȎØÛȑÍxÍ ¾ØÑɭ ¾ɥ ŢηŎ×ɟ ¾ɟ Ć×ɟ ÑɟÖ ßɮ? 

A  Inverting | {ęÛɭȏÈʋÀ 

B  Rectifying | ØɭȒĆÈȒě×ɰÀ 

C  Amplifying | ¤ȒĞĚÙ÷ɟ{ɰÀ 

D  Demodulating | ÊɠÖɨÊȕÙɭȏÈɰÀ 

 
215   What is the effect on the output voltage in 
a bridge rectifier circuits, with one diode open? | 

¤¾ ÒȓÙ Êɟ×ɨÊ Þη¾xÈ Öʃ z}ÈÒȓÈ ÛɨġÈɭÅ ÒØ ¤¾ Êɟ×ɨÊ 

¿ȓÙɟ ßɨÑɭ Þɭ Ć×ɟ ŢÕɟÛ ÒîÍɟ ßɮ? 

A  Very low voltage | ÔßȓÍ ¾Ö ÛɨġÈɭÅ 

B  No output DC voltage | ¾ɨ| z}ÈÒȓÈ ÊɠÞɠ 
ÛɨġÈɭÅ Ñßɡɰ 

C  Full output rated voltage | ÒȕÌx z}ÈÒȓÈ ØɭÈɭÊ 

ÛɨġÈɭÅ 

D  Half of the rated output voltage | ØɭÈɭÊ 

z}ÈÒȓÈ ÛɨġÈɭÅ ¾ɟ zÐɟ 
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216   What is the peak to peak voltage in a 
bridge rectifier circuit with load current of 10 mA, 
capacitance of 470 F and 50 Hz supply frequency? | 

10 mA ¾ɭ ÙɨÊ ¾ØɰÈ, 470 F ¾ɥ ¾ɮÒɭεÞÈɡ ©Ø 50 Hz 

ÞĚÙɟ| ţɥĆÛʃÞɠ ÛɟÙɭ ȐŤÅ ØɭȒĆÈÓɟ×Ø Þη¾xÈ Öʃ Òɠ¾ Èȕ 
Òɠ¾ ÛɨġÈɭÅ Ć×ɟ ßɮ? 

A  0.213 v | 0.213 Ûɠ 
B  1.525 v | 1.525 Ûɠ 
C  2.134 v | 2.134 Ûɠ 
D  3.567 v | 3.567 Ûɠ 

 
217   What is the minimum current rating of four 
diode bridge rectifier to supply load current of 1.8 

Amp? | 1.8 Amp ¾ɭ ÙɨÊ ¾ØɰÈ ¾ɥ zÒȕȑÍx ¾ɭ εÙ¤ ÃɟØ 
Êɟ×ɨÊ ȐŤÅ ØɭȒĆÈÓɟ×Ø ¾ɥ ę×ȕÑÍÖ ¾ØɰÈ ØɭȏÈɰÀ Ć×ɟ ßɮ? 

A  0.9 Amp  
B  1.8 Amp  
C  2.0 Amp  
D  5.0 Amp  
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218   Which signal is sent by the SMPS to 

computer mother board? | ¤Þ¤ÖÒɠ¤Þ Ñɭ ¾ɰĚ×ȕÈØ 
ÖÏØ ÔɨÊx ¾ɨ ¾ɩÑ Þɟ Þɰ¾ɭÍ ÕɭÅɟ ßɮ? 

A  Device signal | ιÊÛɟ{Þ ¾ɟ Þɰ¾ɭÍ 

B  Peripheral signal | ÒɭȎØÒɭůÙ Þɰ¾ɭÍ 

C  Processor signal | ŢɨÞɭÞØ Þɰ¾ɭÍ 

D  Power good signal | ÀȓÊ ÒɦÛØ Þɰ¾ɭÍ 

 
219   What is the full form of the abbreviation 

ISA? | ÞɰνàĚÍ ÑɟÖ z|¤Þ¤ ¾ɟ ÒȕÌx ȼÒ Ć×ɟ ßɮ? 

A   Industry System Architecture | }ʬ×ɨÀ ŢÌɟÙɡ 
ÛɟĦÍȓ¾Ùɟ   

B  Industry Software Architecture | }ʬ×ɨÀ 

ÞɦěÈÛɭ×Ø ÛɟĦÍȓ¾Ùɟ 
C  Industry Standard Architecture | }ʬ×ɨÀ 

ÖɟÑ¾ ÛɟĦÍȓ¾Ùɟ 
D  Institution Standard Architecture |{ɰĦÈɡʨ×ȕÜÑ 

ĦÈʅÊÊx zη¾xÈɭĆÃØ 

 
220   Which device is used to produce hard copy 

of a document in a computer? | ¾ɰĚ×ȕÈØ Öʃ ÏĦÍɟÛɭé 

¾ɥ ßɟÊx ¾ɦÒɠ ÔÑɟÑɭ ¾ɭ εÙ¤ η¾Þ }Ò¾ØÌ ¾ɟ }Ò×ɨÀ 
η¾×ɟ ÅɟÍɟ ßɮ? 

A  Printer | θŢɰÈØ 

B  Monitor | ÖɦȑÑÈØ 

C  Modem | ÖɨÊÖ 

D  Speaker | ĦÒɠ¾Ø 

 
221   Which port is used to connect a plug and 

play peripheral device to CPU? | ĚÙÀ ¾ɨ ÅɨîÑɭ ©Ø 
ÒȎØÐɠ× ιÊÛɟ{Þ ¾ɨ ÞɠÒɠ×ȕ Öʃ ÃÙɟÑɭ ¾ɭ εÙ¤ η¾Þ ÒɨÈx 

¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  USB port | USB ÒɨÈx 

B  RJ45 port | RJ45 ÒɨÈx 

C  COM 1 port | COM 1 ÒɨÈx 

D  COM 2 port | COM 2 ÒɨÈx 

 
222   What is the function of schottky diode BA 

157 in SMPS circuit? | ¤Þ¤ÖÒɠ¤Þ Þη¾xÈ Öʃ Ħ¾ɨÈ 
¾ɥ× Êɟ×ɨÊ Ôɠ¤ 157 ¾ɟ ¾ɟ×x Ć×ɟ ßɮ? 

A  Error amplifier | ŝȓȏÈ ¤ĞÒÙɡÓɟ×Ø 

B  Switching diode | ȒĦÛκÃɰÀ Êɟ×ɨÊ 

C  Voltage regulator | ÛɨġÈɭÅ ØɭÀȓÙɭÈØ 
D  Fast recovery diode | ÷ɟĦÈ ȎØ¾ÛØɡ Êɟ×ɨÊ 

 
223   What is the advantage of SMPS in 

computer? | ¾ɰĚ×ȕÈØ Öʃ ¤Þ¤ÖÒɠ¤Þ ¾ɟ Ć×ɟ Óɟ×Ïɟ 
ßɮ? 

A  Bulky | Ôġ¾ɥ 

B  High efficiency | }ċÃ ÏàÍɟ 

C  High frequency noise low | }ċÃ zÛȗθǡ ÜɨØ 
¾Ö 
D  Servicing of SMPS is easy | SMPS ¾ɥ ÞθÛxεÞɰÀ 

zÞɟÑ ßɮ 
 

224   What is the full form of electronic 

component MOV? | {ÙɭĆŘɦȑÑ¾ ¾ɰÒɨÑʃÈ MOV ¾ɟ ÒȕÌx 
ȼÒ Ć×ɟ ßɮ? 

A  Metal Over Varistor | ÐɟÍȓ ÒØ ÛɟȎØĦÈØ 
B  Metal Over Varactor |  ÖɭÈÙ ¨ÛØ ÛɮĆÈØ 

C  Metal Oxide Varistor |  ÖɭÈÙ ¦ĆÞɟ{Ê ÛɮȎØĦÈØ 

D  Metal Oxide Varactor |  ÖɭÈÙ ¦ĆÞɟ{Ê ÛɮĆÈØ 

 
225   Which port is used to connect the HDD on 

the mother board? | ÖÏØ ÔɨÊx ÒØ HDD ¾ɨ ÅɨîÑɭ ¾ɭ 
εÙ¤ η¾Þ ÒɨÈx ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  IDE port | IDE ÒɨÈx 

B  Com 1 port | ¾ɦÖ 1 ÒɨÈx 

C  Com 2 port | ¾ɦÖ 2 ÒɨÈx 

D  Floppy drive port | ěÙɦÒɠ Śɟ{Û ÒɨÈx 

 
226   What is the full form of the abbreviation 

LBA in computer system? | ¾ɰĚ×ȕÈØ εÞĦÈÖ Öʃ 
ÞɰνàĚÍ ÑɟÖ LBA ¾ɟ ÒȕÌx ȼÒ Ć×ɟ ßɮ? 

A  Low block accessing | ¾Ö ĜÙɦ¾ ÒßȓɰÃ 

B  Large block accessing | Ôîɭ ĜÙɦ¾ Í¾ ÒßȓɰÃ 

C  Large boot addressing | Ôîɭ ÔȕÈ ÞɰÔɨÐÑ 

D  Logical block accessing | Íɟη¾x¾ ĜÙɦ¾ 

¤ĆÞɭεÞɰÀ 

 



Electronic Mechanic – Semester 1 - Module 9 : Computer Hardware, OS, 
Reviewed and updated on: 01st November 2019 Version 1.1 

 

 NIMI Question Bank  Page 36 of 40 

227   What is the full form of the abbreviation 

CD-ROM in computer? | ¾ɰĚ×ȕÈØ Öʃ ÞɰνàĚÍ ÑɟÖ CD-

ROM ¾ɟ ÒȕÌx ȼÒ Ć×ɟ ßɮ? 

A  Classified Device Read Only Memory | ÛÀɶ¾ȗÍ 

ιÊÛɟ{Þ ¾ɭÛÙ ÖɭÖɨØɡ Òïʃ 

 B  Computer Disk Read Only Memory | ¾ɰĚ×ȕÈØ 
ιÊĦ¾ ¾ɭÛÙ ÖɭÖɨØɡ Òïʃ  

C  Connectivity Digital Read Only Memory | 

¾ÑɭȒĆÈθÛÈɡ ιÊȒÅÈÙ ØɡÊ ¨ÑÙɡ ÖɭÖɨØɡ 

D  Compact Disk Read Only Memory | ¾ɦĞÒɮĆÈ 

ιÊĦ¾ ¾ɭÛÙ ÖɭÖɨØɡ Òïʃ 

 
228   Which component, which reads the 

command from memory and executes? | ¾ɩÑ Þɟ 
¾ɰÒɨÑʃÈ , Åɨ ÖɭÖɨØɡ Þɭ ¾ÖɟɰÊ ÒïÍɟ ßɮ ©Ø ȑÑĥÒɟȏÏÍ 

¾ØÍɟ ßɮ? 

A  Processor | ŢɨÞɭÞØ 

B  Graphics card | Őɟη÷ĆÞ ¾ɟÊx 

C  Read Only Memory | ØɡÊ ̈ÑÙɡ ÖɭÖØɡ 

D  Random Access Memory | ØʅÊÖ ¤ĆÞɭÞ ÖɭÖɨØɡ 

 
229   Which codes are stored in computer ROM 

BIOS chip? | ¾ɰĚ×ȕÈØ ROM BIOS κÃÒ Öʃ ¾ɩÑ Þɭ ¾ɨÊ 
ĦÈɨØ η¾¤ ÅɟÍɭ ßʅ? 

A  Change codes | ÔÏÙʃ ßȓ¤ ¾ɨÊ 
B  Temporary codes | yĦÎɟ×ɠ ¾ɨÊ 
C  Permanent codes | ĦÎɟ×ɠ ¾ɨÊ 
D  Partial change codes | zɰεÜ¾ ÒȎØÛÍxÑ ¾ɨÊ 

 
230   Which mouse action is used to move an 

object from one location to another? | η¾Þɠ ÛĦÍȓ 
¾ɨ ¤¾ ĦÎɟÑ Þɭ ÏȕÞØɭ ĦÎɟÑ ÒØ Ùɭ ÅɟÑɭ ¾ɭ εÙ¤ η¾Þ 
Öɟ}Þ ηŎ×ɟ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Left clicking | Ôɟ×ɟɯπȒĆÙ¾ ¾ØÑɟ 

B  Right clicking | Øɟ{È ȒĆÙ¾ 
C  Drag and drop | ¿ɠɰÃʃ ©Ø Äɨîʃ 

D  Double clicking | ÊÔÙ ȒĆÙ¾ ¾ØÑɟ 

 
231   Which memory device loses data on power 

failure? | ȐÔÅÙɡ ¾ɥ θÛÓÙÍɟ ÒØ ¾ɩÑ Þɟ ÖɭÖɨØɡ 

ιÊÛɟ{Þ ÊɭÈɟ ¿ɨ ÏɭÍɟ ßɮ? 

A  RAM | ØɟÖ 
B  ROM | ØɨÖ 
C  Hard disc | ßɟÊx ιÊĦ¾ 

D  CD ROM | ÞɠÊɠ ØɦÖ 
 

232   Which section is used by the processor to 

save instructions? | ȑÑÏɴÜʇ ¾ɨ ÞßɭÅÑɭ ¾ɭ εÙ¤ ŢɨÞɭÞØ 

ʬÛɟØɟ η¾Þ yÑȓÕɟÀ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Memory | ÖɭÖɨØɡ 

B  System unit | εÞĦÈÖ {¾ɟ| 

C  Graphics card | Őɟη÷ĆÞ ¾ɟÊx 

D  Micro processor | Öɟ{Ŏɨ ŢɨÞɭÞØ 

 
233   Which option opens a list of programs, 

currently installed in the computer? | ¾ɩÑ Þɟ 
θÛ¾ġÒ ¾ɰĚ×ȕÈØ Öʃ ÛÍxÖɟÑ Öʃ ĦÎɟθÒÍ ¾ɟ×xŎÖʇ ¾ɥ ¤¾ 
ÞȕÃɠ ¿ɨÙÍɟ ßɮ? 

A  Help menu | ßɭġÒ ÖɭÑȕ 
B  Start menu | ĦÈɟÈx ÖɭÑȕ 
C  All program | all ŢɨŐɟÖ 

D  Recent documents | ØɡÞʃÈ ÊɦĆ×ȕÖʃÈ 
 

234   In computer processing data, which table 

maintain the size of the partition? | ¾ɰĚ×ȕÈØ ŢɨÞɭεÞɰÀ 

ÊɭÈɟ Öʃ, ¾ɩÑ Þɠ ÍɟεÙ¾ɟ θÛÕɟÅÑ ¾ɭ z¾ɟØ ¾ɨ ÔÑɟ¤ 
Ø¿Íɠ ßɮ? 

A  Process table | ŢɨÞɭÞ ÈɭÔÙ 

B  Partition table | ÒɟÈɷÜÑ ÈɭÔÙ 

C  Program table | ŢɨŐɟÖ ÈɭÔÙ 

D  Procedure table | ŢɨÞɠÅØ ÈɭÔÙ 

 
235   The speed of spindle motor rotates inside 

the hard disk | ȒĦÒɰÊÙ ÖɨÈØ η¾Þ ĦÒɠÊ Þɭ ßɟÊx ιÊĦ¾ 
¾ɭ yɰÏØ ÁȕÖÍɟ ßɮ 
A  4000 to 800 r.p.m | 4000 Þɭ 800 zØÒɠ¤Ö 

B  2500 to 5000 r.p.m | 2500 Þɭ 5000 zØÒɠ¤Ö 

C  3500 to 6000 r.p.m | 3500 Þɭ 6000 zØΦÒɠΦ¤ÖΦ 
D  3600 to 7200 r.p.m | 3600 Þɭ 7200 zØÒɠ¤Ö 
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236   Which metal coating is used on compact 

disk? | ¾ɦĞÒɮĆÈ ιÊĦ¾ ÒØ η¾Þ ÐɟÍȓ ¾ɥ ¾ɨȏÈɰÀ ¾ɟ 
}Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Silver | ÃɟɰÏɡ 

B  Nickel | ȑÑ¾Ù 
C  Chromium | ŎɨεÖ×Ö 

D  Aluminium | yġ×ȓÖɠȑÑ×Ö 

 
237   Where the programs and datas are stored 

after execution in computer? | ¾ɰĚ×ȕÈØ Öʃ 
¤ĆÞɠĆ×ȕÞÑ ¾ɭ ÔɟÏ ŢɨŐɟÖ ©Ø ÊɭÈɟ ¾ßɟɯ ÞɰŐßɡÍ η¾¤ 
ÅɟÍɭ ßʅ? 

A  Buffer | ÔÓØ 
B  Chip set | κÃÒ ÞɭÈ 

C  Memory | ÖɭÖɨØɡ 

D  Processor | ŢɨÞɭÞØ 

 
238   Which shortcut key function is used to 
close the working window on the computer? | 

¾ɰĚ×ȕÈØ ÒØ ¾ɟÖ ¾ØÑɭ ÛɟÙɡ θÛɰÊɨ ¾ɨ ÔɰÏ ¾ØÑɭ ¾ɭ εÙ¤ 
η¾Þ ÜɦÈx¾È ¾ɥ ÷ɰĆÜÑ ¾ɟ }Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Ctrl + S  
B  Ctrl + P  
C  Alt + F4  
D  Shift + F3  

 
239   Which device converts digital data from 
computer into analog data and transmit through 

telephone line? | ¾ɩÑ Þɟ }Ò¾ØÌ ¾ɰĚ×ȕÈØ Þɭ ιÊȒÅÈÙ 

ÊɭÈɟ ¾ɨ ¤ÑɟÙɦÀ ÊɭÈɟ Öʃ ÒȎØÛȑÍxÍ ¾ØÍɟ ßɮ ©Ø ÈɭÙɡÓɨÑ 

Ùɟ{Ñ ¾ɭ ÖɟĘ×Ö Þɭ ŢÞɟȎØÍ ¾ØÍɟ ßɮ? 

A  MODEM | ÖɦÊɭÖ 

B  Chipset | κÃÒÞɭÈ 

C  Processor | ŢɨÞɭÞØ 

D  Cache memory | ¾ɮÜ ÖɭÖØɡ 

 
240   Which component is used to prevent over 

voltage of AC supply in SMPS? | ¤Þ¤ÖÒɠ¤Þ Öʃ ¤Þɠ 
zÒȕȑÍx ¾ɭ ÛɨġÈɭÅ ¾ɨ Øɨ¾Ñɭ ¾ɭ εÙ¤ η¾Þ ¾ɰÒɨÑʃÈ ¾ɟ 
}Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Metal film resistor | ÖɭÈÙ ηÓġÖ ØȒÅĦÈØ 

B  Carbon film resistor | ¾ɟÔxÑ ηÓġÖ ØȒÅĦÈØ 

C  Metal oxide varistor | ÖɭÈÙ ¦ĆÞɟ{Ê ØȒÅĦÈØ 

D  Wire wound resistor | Ûɟ×Ø Ûɟ}ęÏ ØȒÅĦÈØ 

 
241   Which component is used to remove the 

heat generated inside the SMPS? | ¤Þ¤ÖÒɠ¤Þ ¾ɭ 
yɰÏØ }ĕÒęÑ ÀÖɶ ¾ɨ ßÈɟÑɭ ¾ɭ εÙ¤ η¾Þ ¾ɰÒɨÑʃÈ ¾ɟ 
}Ò×ɨÀ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Heat sink | ÍɟÒ εÞɰ¾ 

B  Cooler fan | ¾ȕÙØ Òɰ¿ɟ 

C  Silicon grease | εÞεÙ¾ɦÑ ŐɠÞ 
D  Mica film spacer | Öɠ¾ɟ ηÓġÖ ĦÒɭÞØ 
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242   How many transistors are built inside the 
Very Large Scale Integration (VLSI) IC package? | 

ÔßȓÍ Ôîɭ ÒɮÖɟÑɭ ÒØ ¤¾ɥ¾ØÌ όÛɠ¤Ù¤Þz|ύ z|Þɠ 
Òɮ¾ɭÅ ¾ɭ yɰÏØ η¾ÍÑɭ ŘɟɰȒÅĦÈØ ÔÑɟ¤ ÅɟÍɭ ßʅ? 

A  1000 and above | 1000 ©Ø ~ÒØ 
B  1 to 10 transistors | 1 Þɭ 10 ŘɟɰȒÅĦÈØ 

C  10 to 100 transistors | 10 Þɭ 100 ŘɟɰȒÅĦÈØ 

D  100 to 1000 transistors | 100 Þɭ 1000 ŘɟɰȒÅĦÈØ 

 
243   Which IC package consist of 100 to 1000 

transistors? | η¾Þ z|Þɠ Òɮ¾ɭÅ Öʃ 100 Þɭ 1000 

ŘɟɰȒÅĦÈØ ßɨÍɭ ßʅ? 

A  Large scale integration (LSI) | Ôîɭ ÒɮÖɟÑɭ ÒØ 
¤¾ɥ¾ØÌ όLSI) 

B  Small scale integration (SSI) | ÄɨÈɭ ÒɮÖɟÑɭ ÒØ 
¤¾ɥ¾ØÌ ό¤Þ¤Þz|ύ 
C  Medium scale integration (MSI) | ÖĘ×Ö ÒɮÖɟÑɭ 

ÒØ ¤¾ɥ¾ØÌ όMSI) 

D  Very large scale integration (VLSI) | ÔßȓÍ Ôîɭ 
ÒɮÖɟÑɭ ÒØ ¤¾ɥ¾ØÌ όÛɠ¤Ù¤Þz|ύ 

 
244   Which is the 3 terminal, negative voltage 

regulator IC? | 3 ÈεÖxÑÙ, Ñ¾ɟØɟĕÖ¾ ÛɨġÈɭÅ ØɭÀȓÙɭÈØ 
z|Þɠ ¾ɩÑ Þɟ ßɮ? 

A  LM 320 
B  LM 340  
C  IC 7905  
D  IC 7812  

 
245   Which three terminal voltage regulator IC 

has adjustable output? | η¾Þ ÍɠÑ ÈεÖxÑÙ ÛɨġÈɭÅ 

ØɭÀȓÙɭÈØ z|Þɠ Öʃ ÞÖɟ×ɨč× z}ÈÒȓÈ ßɮ? 

A  LM 100  
B  LM 105  
C  LM 305  
D  LM 317  

 
246   How much is the maximum load current of 
the negative voltage regulator IC 7912? | 

Ñ¾ɟØɟĕÖ¾ ÛɨġÈɭÅ ØɭÀȓÙɭÈØ IC 7912 ¾ɟ yκÐ¾ÍÖ ÕɟØ 
η¾ÍÑɟ ßɮ? 

A  1.0 A  
B  1.5 A  

C  2.0 A  
D  0.55 A  

 
247   What is the current rating of voltage 

regulator IC LM338K? | ÛɨġÈɭÅ ØɭÀȓÙɭÈØ z|Þɠ 
LM338K ¾ɥ ÛÍxÖɟÑ ØɭȏÈɰÀ Ć×ɟ ßɮ? 

A  2A  
B  3A  
C  4A  
D  5A  

 
248   What is the function of the transistor 2N 

3055 in the circuit? | Þη¾xÈ Öʃ ŘɟɰȒÅĦÈØ 2 ¤Ñ 3055 

¾ɟ ¾ɟ×x Ć×ɟ ßɮ? 

 
A  To reduce load current | ÙɨÊ ¾ØɰÈ ¾ɨ ¾Ö 
¾ØÑɭ ¾ɭ εÙ¤ 
B  To function as error amplifier | ŝȓȏÈ 
¤ĞÒÙɡÓɟ×Ø ¾ɭ ȼÒ Öʃ ¾ɟ×x ¾ØÑɭ ¾ɭ εÙ¤ 
C  As short circuit current sensor | ÜɦÈx Þη¾xÈ 

¾ØɰÈ ÞʃÞØ ¾ɭ ȼÒ Öʃ 
D  To handle higher load current | }ċÃ ÕɟØ ¾ØɰÈ 
¾ɨ ÞɰÕɟÙÑɭ ¾ɭ εÙ¤ 
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249   Which method is followed to troubleshoot 
the problem causing section by the symptom? | 

ÙàÌ ʬÛɟØɟ yÑȓÕɟÀ ¾ɭ ¾ɟØÌ ÞÖĦ×ɟ ¾ɟ ȑÑÛɟØÌ 

¾ØÑɭ ¾ɭ εÙ¤ ¾ɩÑ Þɠ θÛκÐ ¾ɟ ÒɟÙÑ η¾×ɟ ÅɟÍɟ ßɮ? 

A  Step by step method | ĦÈɭÒ Ôɟ| ĦÈɭÒ θÛκÐ 

B  Sensory test method | ÞɰÛɭÏɡ ÒØɡàÌ θÛκÐ 

C  Trial and error method | ÒØɡàÌ ©Ø ŝȓȏÈ θÛκÐ 

D  Logical approach method | Íɟη¾x¾ ȸȒĥÈ¾ɨÌ 

θÛκÐ 

 
250   What is the current rating of voltage 

regulator IC LM317L? | ÛɨġÈɭÅ ØɭÀȓÙɭÈØ z|Þɠ 
LM317L ¾ɥ ÛÍxÖɟÑ ØɭȏÈɰÀ Ć×ɟ ßɮ? 

A  0.1 A  
B  0.2 A  
C  0.3 A  
D  0.4 A  

 
251   What is the function of capacitor C2 in the 

voltage regulator? | ÛɨġÈɭÅ ØɭÀȓÙɭÈØ Öʃ ¾ɮÒɭεÞÈØ Þɠ 2 

¾ɟ ¾ɟ×x Ć×ɟ ßɮ? 

 
A  Smooth the ripple content | ÍØɰÀ ÞɟÖŐɠ ¾ɨ 
κÃ¾Ñɟ ¾Øʃ 

B  Filter out the pulsations in dc | Dc Öʃ ÒġÞ ¾ɨ 
η÷ġÈØ ¾ØÑɟ 

C  Prevent the setting up of oscillations | 

¦Ħ¾ɥÙɭÞÑ ¾ɥ ĦÎɟÒÑɟ ¾ɨ Øɨ¾ʃ 

D  Improve the transient response of output 

voltage | z}ÈÒȓÈ ÛɨġÈɭÅ ¾ɥ àζÌ¾ ŢȑÍηŎ×ɟ Öʃ 
ÞȓÐɟØ ¾Øʃ 

 

252   What is the range of output voltage of 

regulator IC LM 317? | ØɭÀȓÙɭÈØ z|Þɠ ¤Ù¤Ö 317 ¾ɭ 
z}ÈÒȓÈ ÛɨġÈɭÅ ¾ɥ ÞɠÖɟ Ć×ɟ ßɮ? 

A  0 to 25 V | 0 Þɭ 25 Ûɠ 
B  0 to 30 V | 0 Þɭ 30 Ûɠ 
C  0 to 32 V | 0 Þɭ 32 Ûɠ 
D  1.2 V to 32 V | 1.2 Ûɠ Þɭ 32 Ûɠ 

 
253   Which type of voltage regulator is IC 723? | 

η¾Þ Ţ¾ɟØ ¾ɟ ÛɨġÈɭÅ ØɭÀȓÙɭÈØ IC 723 ßɮ? 

A  Multipin variable voltage regulator | ÔßȓÒØÍ 
ÃØ ÛɨġÈɭÅ ØɭÀȓÙɭÈØ 
B  Three pin positive voltage regulator | ÍɠÑ θÒÑ 
ÒɦȒÅȏÈÛ ÛɨġÈɭÅ ØɭÀȓÙɭÈØ 
C  Three pin negative voltage regulator | ÍɠÑ 
θÒÑ Ñ¾ɟØɟĕÖ¾ ÛɨġÈɭÅ ØɭÀȓÙɭÈØ 
D  Three pin adjustable voltage regulator | ÍɠÑ 
θÒÑ ÞÖɟ×ɨč× ÛɨġÈɭÅ ØɭÀȓÙɭÈØ 

 
254   What is the purpose of diode (D1) in the 

variable output voltage regulator? | ÃØ z}ÈÒȓÈ 
ÛɨġÈɭÅ ØɭÀȓÙɭÈØ Öʃ Êɟ×ɨÊ όD1) ¾ɟ }ʬÏɭĤ× Ć×ɟ ßɮ? 

 
A  To avoid excess ringing | yκÐ¾ ÔÅÑɭ Þɭ ÔÃÑɭ 
¾ɭ εÙ¤ 
B  To improve the ripple regulation | ȎØÒÙ 
ȑÑ×ÖÑ Öʃ ÞȓÐɟØ ¾ØÑɭ ¾ɭ εÙ¤ 
C  To protect the IC against short due to C2 | C2 

¾ɥ ÛÅß Þɭ IC ¾ɭ ÔÃɟÛ ¾ɭ εÙ¤ 
D  To protect the IC against short due to C3 | C3 

¾ɥ ÛÅß Þɭ z|Þɠ ¾ɭ ÔÃɟÛ ¾ɭ εÙ¤ 
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255   Which component protects the regulator IC 

from short circuit due to capacitor C3? | ¾ɮÒɭεÞÈØ Þɠ 
3 ¾ɭ ¾ɟØÌ ¾ɩÑ Þɟ ÁÈ¾ ÜɦÈx Þη¾xÈ Þɭ ØɭÀȓÙɭÈØ z|Þɠ 
¾ɥ ÞȓØàɟ ¾ØÍɟ ßɮ? 

 
A  Diode D1 | Êɟ×ɨÊ D1 

B  Diode D2 | Êɟ×ɨÊ D2 

C  Resistor R1 | Øɨ¾ÑɭÛɟÙɟ R1 

D  Capacitor C2 | ÞɰÐɟȎØŝ C2 

 
256   What is the purpose of diodes in the 

circuit? | Þη¾xÈ Öʃ Êɟ×ɨÊ ¾ɟ }ʬÏɭĤ× Ć×ɟ ßɮ? 

 
A  Rectify the AC voltage | ¤Þɠ ÛɨġÈɭÅ ¾ɨ Þßɡ 
¾Øʃ 

B  Divide the output voltage | z}ÈÒȓÈ ÛɨġÈɭÅ 

¾ɨ θÛÕɟȒÅÍ ¾Øʃ 

C  Regulate the output voltage | z}ÈÒȓÈ ÛɨġÈɭÅ 

¾ɨ θÛȑÑ×εÖÍ ¾Øʃ 

D  Avoid the common load problem | ÞɟÖɟę× 

ÕɟØ ÞÖĦ×ɟ Þɭ ÔÃʃ 
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213B|  214B|  215D|  216A|  217B|  218D|  219C|  

220A|  221A|  222D|  223B|  224C|  225A|  226B|  

227D|  228D|  229C|  230C|  231A|  232A|  233C|  

234B|  235D|  236D|  237C|  238C|  239A|  240C|  

241B|  242A|  243A|  244C|  245D|  246C|  247D|  

248D|  249D|  250A|  251D|  252D|  253D|  254D|  

255A|  256D|  


